Reconstitution of a Partnership Firm - Admission of a Partner

1. Piyush, Rajesh and Avinash were partners in a firm sharing profits and losses
equally. Shiva was admitted as a new partner for an equal share. Shiva brought
his share of capital and premium for goodwill in cash. The premium for goodwill
amount will be divided among: (2024)

(A) Old partners in old ratio

(B) New partners in new ratio

(C) New partners in sacrificing ratio

(D) Old partners in sacrificing ratio
Ans. (D) Old partners in sacrificing ratio

2. Alex, Benn and Cole were partners in a firm sharing profits and losses in the
ratio of 5: 3 : 2. They admitted Dona as a new partner for 1/5 th share in the
future profits. Dona agreed to contribute proportionate capital. On the date of
admission, capitals of Alex, Benn and Cole after all adjustments were % 1,20,000;
80,000 and X 1,00,000 respectively. (2024)

The amount of capital brought in by Dona will be :
(A)X 75,000

(B) 60,000

(€)X 65,000

(D)X 70,000

Ans. (A) X 75,000

3. Aamir, Bashir and Chirag were partners in a firm sharing profits and losses in
the ratio of 3 : 3 : 2. Chirag retired. Aamir and Bashir decided to share profits and
losses in future in the ratio of 1 : 2. On the day of Chirag's retirement, goodwill of
the firm was valued at X 5,40,000. Calculate gaining ratio and pass necessary
journal entry to record the treatment of goodwill (without opening goodwill
account) on Chirag's retirement. (2024)

Ans. Gain = New share - Old Share
Aamir’s Gain=1/3 - 3/8 =-1/24 (sacrifice)
Bashir’s Gain=2/3 - 3/8 = 7/24 (gain)



In the books of Aamir, Bashir and Chirag
JOURNAL
Date Particulars L.F. Dr. Amount Cr. Amount
] ]
Bashir’s Capital A/c Dr. 1,57,500
To Aamir’s Capital A/c 22,500
To Chirag’s Capital A/c 1,35,000

(Goodwill treated on Chirag’s
retirement without opening
Goodwill account)

4. Pearl and Ruby were partners in a firm with a combined capital of X 2,50,000.
The normal rate of return was 10%. The profits of the last four years were as
follows: (2024)

=
2019 -20 35,000
2020 -21 25,000
2021 - 22 32,000
2022 - 23 33,000

The closing stock for the year 2022 - 23 was overvalued by X 5,000.

Calculate goodwill of the firm based on three years' purchase of the last four
years' average super profit.

Ans. Calculation of Normal Adjusted Profit

Year Profit () Adjustment () Adjusted Profit (%)
2019-20 35,000 - 35,000

2020-21 25,000 - 25,000

2021-22 32,000 - 32,000

2022-23 33,000 (5,000) 28,000

TOTAL 1,20,000

Average Profit= (Total Adjusted Profit)/ No. of years
=1,20,000/4 =330,000

Normal Profit= Capital Employed x Normal Rate of Return
100
=2,50,000 x 10 =325,000
100




Super Profit = Average Profit — Normal Profit
= 30,000 - 25,000 =35,000

Goodwill= Super Profit x No. of years’ purchase
=5,000x 3 =315,000

5. Archana, Vandana and Arti were partners in a firm sharing profits and losses in
the ratio of 5 : 3 : 2. Their Balance Sheet on 31st March, 2023 was as follows :

Balance Sheet of Archana, Vandana and Arti as at 31st March, 2023

Liabilities Amount | o sets R
Capitals : Investments 80,000
Archana 80,000 Plant 1,00,000
Vandana 70,000 Stock 40,000
Arti 60,000 | 2,10,000 | Debtors 50,000
General Reserve 30,000 | Cash at Bank 30,000

Creditors 60,000
3,00,000 3,00,000

The firm was dissolved on the above date.

(i) Assets were realised as follows :

Debtors — 40,000
Stock — X 50,000
Plant — 60,000

(i) 25% of the Investments were taken over by Vandana at X 18,000. Remaining
Investments were taken over by Archana at 10% less than its book value.

(iii) Expenses of realisation X 20,000 were paid by Arti.
Prepare Realisation Account. (2024)
Ans.



Dr Realisation A/c Cr
Particulars Amount Particulars Amount
% Z
To Investments A/c | 80,000 By Creditors A/c (%) 60,000
To Plant A/c 1,00,000
To Stock (*2) 40,000 By Bank A/c (*2)
To Debtors A/c [ 50,000 Debtors 40,000
= Stock 50,000
To Bank (*2) 60,000 Plant 60,000 1,50,000
To Arti’s Capital A/lc  (Y2) 20,000
By Vandana’s capital A/c (%2) 18,000
By Archana’s capital A/c  (}%) 54,000
By Loss transferred to Partners’
Capital A/c: (%)
Archana 34,000
Vandana 20,400
Ai  13.600 68,000
3,50,000 3,50,000




&

2.1 Modes of Reconstitution of a

1

Partnership Firm

Any change in the relationship of existing partners
which results in an end of the existing agreement and

entering into a new agreement is called
(a} Revaluationof Partnership Firm

(b} Reconstitution of Partnership Firm
[e) Dissolution of Partnership Firm

{d) Amalgamation of Partnership Firms.

(Term-1, 2021-22) (&)

2.2 Admission of a New Partner

A, B, Cand D are partners in a firm. They want to |
expand their business for which additional capital :
and more managerial experts are required. For this,
thesy want to admit more members in their firm. What
is the maximurm number of additional members that ;

2.

can be admitted by them in the firm?

(a) 02 (b} 50 ¢ 20 (d) 44

IEM (1 mark)

.

Gupta and Sharma were partners in a firm. They
wanted to admit two more members in the firm. List :
the categories of individuals other than minors who

(Delhi 2017) (R |

cannot be admitted by them

2.3 New Profit Sharing Ratio

X and Y were partners sharing profits in the ratio of
3:2.Zwas admitted as anew partner for 1/5% share.

4.

; A
X sacrificed % from his share and Y sacrificed —

20

from his share in favour of Z, the new profit sharing

ratiowould be :
(a) 9:7:4 (b) B:8:4
) &:10:4 (d) 10:6:5.

The new profit sharing ratio will be:
{a) 7:3:7 by 7:3:3
e} 3:7:7 (d} 1:1:1.

(Term-1, 2021-22) :

(Term-1, 2021-22) (1) |

(Term-I, 2021-22) (B

Leela and Meeta were partners in a firm sharing profits
and losses in the ratio of 7 : 3. Geetawas admitfed asa §
new partner for a 3/13 share in the profits of the firm. ;

6.

H

Mountain Enterprises is a partnership firm with
Manu, Mamta and Moti as partners. The firm
is engaged in production and sales of electrical
items and equipment. Their capital contributions
were ¥ 50,00,000; ¥ 50,00,000 and T 80,00,000
respectively. They decided to share the profit in the
ratio of 5 : 5: B. They are now looking forward to
expand their business. [twas decided that they would
bring in sufficient cash to double their respective
capitals. This was duly followed by Manu and Mamta
but due to unavoidable reasons Moti could not do
&0 and ultimately, it was agreed that to bridge the
shortfall in the required capital a new partner should
be admitted who would bring in the amount that Moti
could not bring and that the new partner would get
share of profits equal to half of Moti's share which
woulld be sacrificed by Moti Only. Consequent to this
agreement, Malini was admitted and she brought in
the required capital and ¥ 30,000,000 as premium
for goodwill. What is the new profit sharing ratio of
Manu. Mamta, Moti and Malini?
{a) 1:1:1:1 (b) 5:5:8:8
fe) 5:5:4:4 dl &:4:4:4

(Term-I, 2021-22)

P.Q and R were pariners in a firm sharing profits and
losses in the ratio 2 : 2 : 1. They admitted L as a new
partner for 1/5% share in the profits. L was given a
guarantee that his share of profit shall be ¥ 1,00,000.
Any deficiency arising on account of guarantes te L
will be borne by Q. The profit of the firm during the
yvear ended 31.3.2021 was T 4.00,000. The amount
of deficiency borne by O was:
{a) % B0O.00OD (b) 20,000
e} ¥ 100000 id) ¥ &667

(Term-1, 2021-22) (1]
On 1.4.2018, A and B started business with capitals
of ¥ 8,000,000 and ¥ 146.00,000 respectively. They
decided to share the future profits in the ratio of
their capitals. On 1.4 2019, they admitted C a5 a new
partner. & surrendered 1/41 of his share in favour of
C and B surrendered 1/9'" fram his share in favour
of C. On 1.4 2020, D was admitted as a new partner
for 1/6™ share. On 1.4.2021, E was admitted for
1/5™ share in the profits and it was decided that all
partners will share the future profits equally. The
profit sharing ratioof A, B and Cwas :

{a) 2:20:7 b B:21:7
{e) 10:19:7 dy F:22:7
(Term-l, 2021-23)

On 142018, A and B starfed business with capitals
of ¥ B8.00,000 and ¥ 156.00.000 respectively. They



decided to share the future profits in the ratio of :
their capitals. On 1.4.2019, they admitted C as anew

partner. A surrendered 1/4™ of his share in favour of 15
C and B surrendered 1/9'" from his share in favour |

of C. On 1.4 2020, [ was admitted as a new partner
for 1/6" chare. On 1.4.2021, E was admitted for
175 share in the profits and it was decided that all i

partners will share the future profits equally.
The profit sharing ratio of A, B, C and D was:

{a) 45:105:30:36 {b) 45:100:35:36
(e) 45:105:30:36 (d) 40:100:40:36.

(Term-l, 2021-22)

10, A and B are partners in a firm sharing profits in the
ratio of 3 : 2. C was admitted as a new partner. A :
surrendered 1/4'" of his share and B surrendered |
173 of his share in favour of C. The new profit

sharing ratio will be:
(a) 27:16:15
fe) 27:146:14

(b) 27:16:17

(1 mark)

11

12,

13.

Amit and Beena were partners in a firm sharing

profits and lozses in the ratio of 3 : 1. Chaman was

(@) 27:16-13. (2021C) |
: 2.4 Sacrificing Ratio

MCQ
14.

. 1 . i
admitted as a new partner for Eﬂ: share in the :

profits. Chaman acquired %rh of his share from

Amit.

How much share did Chaman acquire from Beena?
(2018) Ev] :

A B and C were partners ina firm sharing profitinthe ;
ratioof3:2:1. They admitted D as a new partner for ;
1/8"™ share in the profits, which he acquired 1/16™ :
from B and 1/16% from C. Calculate the new profit :

sharing ratio of A, B, C and D.

(Delhi 2016}

P.C and R were partners in a firm sharing profit in the :
ratioof 3:2: 1 They admitted S as a new partner for £
1/8"™ share in the profits, which he acquired 1/16™ :
from P and 1/16" from Q. Calculate the new profit

sharing ratioof P, Q, R and 5. (Al 2018)

(5/6 marks)

14,

On 1.4.2010, Sahil and Charu entered into

- IEM (1 mark)

. 5, B and | were partners in a firm. T was admitted as

partnership for sharing profits in the ratio of 4 : 3.
They admitted Tanu as a new partner on 1.4.2012
1/5% share which she acquired equally from Sahil
and Charu. 5ahil, Charu and Tanu earned profits at :

a higher rate than the normal rate of return for the i

i 18

year ended 31.3.2013. Therefore, they decided to :
expand their business. To meet the requirements
of additional capital they admitted Puneet as a new
partner on 1.4.2013 for 1/7" share in profits which :

he acquired from Sahil and Charuin 7 : 3 ratio.
Calculate :

(il Mew Profit sharing ratio of Sahil, Charu and

Tanu for the year 2012-13.

(i} New profit sharing ratioof Sahil, Charu, Tanu and

Puneet on Puneet's admission. (Delhi 201 EHE]

On 1.1.2008, Uday and Kaushal entered into
partnership with fixed capitals of ¥ 7,00,000 and
¥ 3.00,000 respectively. They were doing good
business and were interested in its expansion but
could not do the same because of lack of capital.
Therefore, to have more capital, they admitted
Govind as anew partner on 1. 1. 2010, Govind brought
T10,00,000 as capital and the new profit sharing
ratio decided was 3: 2 : 5. On 1.1.2012, another
new partner Hari was admitted with a capital of 2
8.00.000 for 1710 share in the profits, which he
acquired equally from Uday, Kaushal and Govind. On
1.42014, Govind died and his share was taken over
by Uday and Hari equally.

Calculate. New profit sharing ratio of Uday, Kaushal,
Govind and Hari on Hari's admission. (Al 2015)

Mallika, Meera and Madhu were partners sharing
profits in the ratio of 2 : 2 : 1. They decided to share
future profits in the ratio of 7 : 5 : 3 with effect
from 1% April, 202 1. Their Balance Sheet as on that
date showed a balance on 30,000 in Advertisement
suspense account. Amount, that will be debited/
credited to the Capital accounts of Maliika, Meera
and Madhu if they decide to carry forward the
amount of Advertisement Suspense Account.

{a) #¥12000 (Dr); T12,000 (Dr) and ¥46,000 (Dr)
respectively to the Capital Accounts of Mallika
MMeera and Madhu:

Debit T10,000 each to all partmer’s Capital
Accounts.

Debit Meera's Capital Afc and Credit Mallika's
Capital Ade by T2.000.

Debit Mallika's Capital Afc and Credit Meera's
Capital Ade by T2000 each.  (Term-l, 2021-22)

(b
le)
d)

a partner in the partnership firm for %ﬂ" share of

profits, Calculate the sacrificing ratio of 5, B and J.
{Al 2019)

A and B were partners in a firm sharing profits and
losses in the ratio of 4 : 3. They admitted C as a new
partner. The new profit sharing ratio between &, B and
Cwas 3:2:2 Asurrendered 1/4 of his chare in favour

of C. Calculate B's Sacrifice. {Dethi 2017) :E__ﬂ
On 1.1.2008, Uday and Kaushal entered into

partnership with fixed capitals of ¥ 7,000,000 and
$3,00,000 respectively. They were doing good



business and were interested in its expansion but {
could not do the same because of lack of capital. :
Therefore, to have more capital, they admitted |
Govind asanew partner on 1.1.2010. Govind brought
T10,00,000 as capital and the new profit sharing

ratio decided was 3: 2 : 5. On 1.1.2012, another ;

new partner Hari was admitted with a capital of ¥
B.00.000 for 1/10'" share in the profits, which he
acquired equally from Uday, Kaushal and Govind. On
1.4.2014 Govind died and his share was taken over

by Uday and Hari equally.

Calculate the sacrificing ratio of Uday and Kaushal
(Al 2015) ©

o Gowind's admission.

2.5 Goodwill

Rohit and Mohit were partners sharing profits and :
losses in the ratio of 2:1. Their capital accounts as
on 31.3.2021 had a eredit balance of £.1.09,000 and |
T 66,000 respectively. They admitted Sahil as a new ;
partner on 1% April 2021 for 1/5" share in profits.
Sahil brought ¥ 25000 as his share of goodwill
premium. He agreed to contribute capital in new
profit sharing ratio. The amount of capital brought

20.

21.

et
Pl

by Sahil was:
(a) ¥40,000 (b) T32,000 :
{c) ¥ 1250000 (d) T50,000 {2023) ©

Amit and Sumit were partners in a firm with fixed :
capitals of ¥ 6,00,000 and ¥ 4,00,000 respectively. | 26
Kawvi was admitted as a new share partner for 1/5% '
share in the profit of the firm. Kavi brought ¥ 40,000

as his share of goodwill premium and ¥ 300,000 as |

his share of capital.

The amount of Goodwill premium credited to Sumit

will be:
(a) ¥20,000 (b} ¥24.000
{c) ¥16,000 (d) ¥40,000. {2023)

. Amit and Sumit were partners in a firm with capitals :
of ¥ 300,000 and T 200,000 respectively. The normal :
rate of return was 20% and the capitalised value of :
average profits was ¥ B,50,000. The Goodwill of the :
firm by capitalisation of average profits method will

be
(a} 7 10.00,000 (b) ¥ 150,000
(¢) ¥ 350,000 (d) ¥5.00,000

Aszertion (A) and the other labelled as Reason (R).
Assertion (A) : Goodwill is an intangible asset.

Reason (R) : It is the value of the reputation of a firm
in respect of the profits expected in future over and :

above the normal profits.

In the context of the above statements which of the

following is correct?

(Term-l, 2021-22)

. Given below are two statements, one labelled as

(a) Baoth A and R are correct.

{b) Aisincorrectbut R iscorrect

(e) Aiscorrectbut Risincorrect.

(d} BothA and R areincorrect. (Term-I, 2021-22)

Ram and Krishna were partners sharing profits and
losses in the ratio of 2 : 1. They admitted Shanker
as a partner for 1/5% share in the profits. For this
purpose the Goodwill of the firm was to be valued
on the basis of three times of last five years average
profits. The profits for the last five years were :

Year | 20146~ | 2017- | 2018- | 2019- | 2020-

17 18 19 20 21
Profit (¥)|50.000|40,000|75,000|(25,000) | 50,000

Profit of 2017-1B was calculated after charging
T 10,000 for abnormal loss of goods by fire. The value
of Goodwill of the firm is

{a} ¥ 128000 (b}
e} ¥1.90000

T 2,00,000
(d) 120,000
(Term-1, 2021-22) (1]

. Abusiness earned average profits of 60,000 during

the last three years. The normal rate of return on
similar business is 12%. The value of net assets of the
business is 34,000,000 Its goodwill by capitalisation
of Average Profits Method will be :

(a) ¥ 1.00.000 (b} ¥ 200,000
(e} ¥ 4,00,000 {d) ¥ 50,000
(Term-I, 2021-22)

Mountain Enterprises is a partnership firm with
Manu. Mamta and Moti as partners. The firm
is engaged in production and zales of electrical
itens and equipment. Their capital contributions
were T50,00000: ¥50,00,000 and T80,00,000
respectively. They decided to share the profit in
the ratio of 5 : 5 : B. They are now looking forward
to expand their business. It was decided that they
would bring in sufficient cash to double their
respective capitals.

This was duly followed by Manu and Mamta but due
to unavoidable reasons Moti could not do =0 and
ultirately it was agreed that to bridge the shortfall
in the reguired capital a new partner should be
admitted who would bring in the amount that Moti
could not bring and that the new partner would get
share of profits equal to half of Moti's share which
would be sacrificed by Moti Only.

Consequent to this agreement, Malini was admitbed
and she brought in the required capital and
T 30,00.000 as premium for goodwill.

What is the value of the goodwill of the firm?

{a) T 1.35.00000

(b) ¥ 1,50,00,000

{c) ¥ 30,000,000

(d} T 1.60.00.000 (Term-I, 2021-23)



27.

28.

. Super-profit is equal to

X and ¥ were partners in a firm sharing profits and
losses equally. Their capitals were ¥ 2,00,000 and

I (/4 k)

1 :
partner for :!'th share in the profits of the firm. Z |
brought ¥ 200,000 as his capital. The goodwill of

the firm was :
(a) ¥1.00,000 {b) ¥25000
(e} ¥ 200,000 (d) *7.00,000

(Term-1, 2021-22) (1] |

R and M were partners in a firm, sharing profits and :
losses in the ratio of 5 : 3. L was admitted as a new :

partner for % th ehare in the profits of the firm. The |

new profit ratiowas 2 : 2 - 1. L brought T 1,54,000
for his capital and did not bring his share of goodwill :
premium. Goodwill of the firm on U's admission was
estimated at T 4,50,000. It was decided not to raise :

goodwill account on LU's admission

P 33,

Out of the following what will be the correct

treatment of poodwill on L's admission?

(a)
and M’s capital A by T 45,000 each.

(k)
capital Afe by T 11,250, credit R's capital Afc by
101250

(c)

Debit L's current Afs by ¥ 90,000 and credit R's

Debit I's current Aje by ¥ 90,000, Debit M's |
i 34,

Debit U's current Adc by T 90,000 and credit R's

capital Afc by ¥ 56,250 and credit M's capital Ade

T 33,750.

(d)
and M's capital Afc by ¥ 2,25 000 each.

Debit U's current Asc by ¥ 4,50,000 and credit R's

(Term-1, 2021-22) |

fess,
(a) Actual Profit; Normal Profit

(b) Mormal Profit; Actual Profit

fe) Average Profit; Net Assets

(d) Assets; Qutside Liabilities

BN (1 arid

Atul and Meera were partners in a firm sharing :
profits in the ratio of 3: 2 They admitted Mitali as :
a new partner. Goodwill of the firm was valued at
T 2,00,000. Mitali brings her share of goodwill
premium of ¥ 20,000 in cash, which is entirely
credited to Atul's Capital Account. Calculate the :

30.

5 |

new profit sharing ratio.

{Delhi 2019) 36.

35.

(2021C)

A B, C and D were partners in a firm sharing profitin :
the ratioof 4:3:2:1.0n 1.1.2015. They admitted E :
as a new partner from 1/10'™ share in the profits. E :
brought ¥ 10,000 for his share of goodwill premium :
which was correctly recorded in the books by the
accountant. The accountant showed goodwill at
T 100,000 in the books. Was the accountant correct
in doing so 7 Give reason in support of your answer.

(Delhi 2015) :

T 3,00,000 respectively. Z was admitted as a new |

Kabir and Farid are partners in a firm sharing profits
in the ratio of 3 : 1. On 1-4-2019, they admitted
Manik into partnership for 1/4™ share in the profits
of the firm. Manik brought his share of goodwill
premium in cash. Goodwill of the firm was valued
on the basis of 2 years purchase of last three years
average profits. The profits of last three years were:

2016-17 T 90,000
2017-18 T 1,30,000
2018-19 186,000

During the wyear 2018-1% there was a loss of
T 20,000 due to fire which was not accounted for
while calculating the profit.
Calculate the value of goodwill and passthe necessary
journal entries to the treatment of goodwill.

(2020) (Ev]

A firm earned average profit of ¥ 3,000,000 during
the last few years. The normal rate of return of the
industry is 15%. The assets of the business were
T17,00,000 and its liabilities were 2,000,000,
Calculate the goodwill of the firm by capitalisation
of average profits. [Delhi 2019)

The goodwill of a firm is valued at 3 vears’ purchase
of the average profits of last 3 vears. The profits of
the last three years were :

Year Profit ()
2015-164 : 4,00,000 (including an abnormal gain of
¥ 50,000
500000 (after charging an abnormal
loss of T 1,00,000)
2017-18 : 250,000

Calculate the amount of the goodwill. (Al 2019) ,_-'E_-.r]

Mirupama and Anupama were partners in a firm
sharing profits and losses in the ratio of 3 - 5. They

2016-17 :

; 1
admitted Kumar as a new partner for Eﬂ’ share

in the profits. The new profit sharing ratio will be
3:3: 2. Kumar brought ¥ 2,00,000 as his capital
and the necessary amount of goodwill premium for
his share of goodwill. The goodwill of the firm was
valued at ¥ 1,20,000.

Pass necessary journal entries for the above
transactions in the books of the firm. [AF 201%)

Karan and Varun were partners in a firm sharing
profits and losses in the ratio of 1 : 2. Their fixed
capitals were ¥ 200,000 and T 300,000 respectively,
On 1* April, 20146 Kishor was admitted as a new
partner for 1/4% chare in the profits. Kishor brought
T 200,000 for his capital which was to be kept fixed
like the capitals of Karan and Varun. Kishor acquired
his share of profit from Yarun.

Calculate goodwill of the firm on Kishor's admission
and the new profit sharing ratio of Karan, Varun



38.

39

and Kishor. Alko, pass necessary Journal Entry for
the treatment of Goodwill of Kishor's admission :
considering that Kishor did not bring his share of :
goodwill premium in cash. ({Deihi 2017) :

State any three circumstances other than (i)
admission of a new partner, {ii} retirement of a
partner and [iii) death of a partner, when need for
valuation of goodwill of a firm may arise. i

(Delhi 2016) [An|

Saloni and Shrishti were partners in a firm sharing :
profits in the ratio of 7 : 3. Their capitals were :
¥ 200,000 and ¥ 1,50,000 respectively. They !
admitted Aditi on 1% April, 2013 as a new partner :
for 1/6'™ share in future profits. Aditi brought :
T 1.00,000 as his capital. Calculate the value of :
goodwill of the firm and record necessary journal :
entries for the above transaction on Aditi’s :
admission. (Delhi 2014} :

41

P4z

Hemant and Mishant were partners in a firm sharing -
profits in the ratio of 3 : 2. Their capitals were
160,000 and % 1,00,000 respectively. They
admitted Somesh on 15 April, 2013 as a new partner
far 1/5" share in the future profits. Somesh brought |
7 1.20,000 as his capital. Calculate the value of :
goodwill of the firm and record necessary journal :
entries for the above transactions on Somesh's :
admission. (Al 2014) :

2.6 Adjustment for Accumulated

Profits and Losses

MCQ

40

Arun, Babita and Charu are partners in 2 firm
sharing profits in the ratio of 3: 3 : 2. They decided
to share future profits and losses in the ratio of
1:1: 1 with effect from 1-4-2021. They decided to
record the effect of the following without affecting
their Book values. :
(i} Profitand Loss Aje(Cr.) T 8,000

(i} General Reserve T 4,000

The necessary adjusting entry for the same will be:

4 4
{a) Charu's Capital Afc Dr. 1000
To Arun’s Capital Adc 500
To Babita's Capital A 500
(b} Arun's Capital Afc Dr. 500
Babitas Capital Afc Dr. 500
To Charu's Capital Adc 1000 :
e} Charu's Capital Afc Dr. 1000
To Babita's Capital Ak 1000 ;
[d} Charu's Capital Ajc Dr. 3.000
ToArun's Capital Ade 1500 :
ToBabita's Capital Ak 1500 ;

(Term-1, 2021-22) !

P43,

Due to change in the profit sharing ratio, Anisha's
Eain is j—“th while Harit's sacrifice is %th_ They
decided to adjust the following without affecting

their book values, by passing a single adjustment
entry :

General Reserve ¥ 20,000

Profit & Loss Account (Dr.) ¥ 30,000

The neceszsary adjustment entry will be :

(a) Debit Anisha's capital account by ¥ 2,000 and
credit Harit's capital account by 3 2 000,

Debit Anisha's capital account by ¥ 10,000 and
credit Harit's capital account by ¥ 10,000,
Debit Harit's capital account by ¥ 2,000 and
credit Anisha's capital account by T 2,000

Debit Harit's capital account by ¥ 10,000 and
credit Anisha's capital account by T 10,000

(Term-, 2021-22) (1|

Amar and Samar were partners in a firm sharing profits
and losses in the ratio of 1 : 5. On 1.4.2001, Ganesh
was admitted for 1/5% share in the profits. On the
date of Ganesh's admission the balance sheet of Amar
and Samar showed a debit balance of ¥ 40,000 in the
profit and loss account. The accounting treatment
for the same in the books of accounts of the firm on
Ganesh's admission will be -

(a) Amar's and Samar's Capital Accounts will be
debited by ¥ 10,000 and ¥ 50,000 respectively
and Profit and Loss Account will be credited by
T 60,000,

Profit and Loss Account will be debited by
TH0000 and Amar's amnd Samar's Capital
Accounts will be credited by ¥ 10,000 and
T 50,000 respectively.

Revaluation Account will be debited by T 60,000
and Profit and Loss Account will be credited by
T 60,000,

Profit and Loss Appropriation Account will be
debited by ¥ 60,000 and Profit and Loss Account
will be credited by ¥ 60,000. (Term-l, 2021-22)

When a new partner is admitted, the balance of
"General Reserve appearing in the Balance Sheet at
the time of admission is credited to:

{a) Profit and Loss Appropriation Account.

(b) Capital Accounts of all the partners.

(c) Capital Accounts of old partners.

(d) Revaluation Account. (Term-I, 2021-22)

(b
4]
(d)

(b}

{c)

(d)

. At the time of admission of a partner, "General

Reserve’ appearing in the Balance Sheet of the firm
istransferred to the capital accounts of the following:
{a}) Old partners in old profit sharing ratio

(b) Old partners in new profit sharing ratio

{c) All the partners in the new profit sharing ratio
(d) Old partners in sacrificing ratio (2021 ()



(1 mark)

45,

Geeta and Sunita and Anita were partners in a firm
sharing profits in the ratioof 5: 3 : 2. On 1.1.2015,
they admitted Yogita as a new partner for 1,.!’11:'“’
share in the profits. On Yogita's admission, the Profit
and Loss Account of the firm was showing a debit !
balance of ¥ 20,000 which was credited by the :
accountant of the firm to the Capital accounts of
Geeta, Sunita and Anita in their profit sharing ratio.
Did the accountant give correct treatment ? Give
(Al 2015) :

reason in support of your answer.

2.7 Revaluation of Assets and

4.

48.

49,

Reassessment of Liabilities

On the reconstitution of a firm, the value of the
land was appreciated by T 2,000,000 and plant and
machinery reduced ta T 700,000 from T 10,00,000.

Gain or loss on revaluation will be:
(a) Gain¥ 100,000 (b) Loss¥ 100000
{e) Loss¥ 500,000 (d) GainT 500,000

ratio:

{a) Equally

(b} Inold profit sharing ratio
(c} Innew profit sharing ratio
[d} Insacrificing ratio.

due to change in the value of assets and liabilities

In the context of the above statements identify the

correct option.
(al

correct reason of (A)

(b)

reason of (A).
{c) Only (R)iscorrect. :
(d) Both (A) and (R) are incorrect. (Term-l, 2021-22) :

Gopal and Govind are partners in a firm sharing

profits equally. They admitted Chetan for ,1:; = chare in

profits. On admission debtor whose dues of 5,000
were earlier written off as bad-debts, paid ¥ 4,000in :

(2023) :

. On admission of a new partner, the ald partners
share the gain or loss on revaluation of assets and
reassessment of liabilities in which of the following |

(2023)

Given below are two statements, one labelled as
Assertion [A) and the other labelled as Reason (B): :
Assertion (A) : It is necessary to revalue assets and
liabilities of a firm in case of admission of a partner. :
Reasons (R) : It is because the incoming partner is
neither put to an advantage nor to a disadvantage :

Both (A) and (R) are correct, and (R) is the |

Both (A) and (R) are correct. but (R) is incorrect
P 53
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full settlement. Bad debts recovered ¥4,000 will be

debited to and credited to __.

{a) Cash/Bank Ajc, Revaluation AJc

(b) Baddebts recovered Afc, Bad debts Ajc

(c) Cash/Bank AJc, Bad debts Afc

(d) Revaluation Afc, Bad debts recovered Afc
{Term-I, 2021-23)

Which of the following accounts will be debited

for transferring loss on revaluation of assets and

reassessment of liabilities at the time of admission

of a new partner into the partnership firm ?

{a) Old partner's capital accounts in old profit
sharing ratio

{b) Old partners capital accounts in sacrificing ratio

(c) Allpartners capital accounts (including incoming
partner) in new profit sharing ratio

(d) Revaluation account (Term-I, 2021-22)

On the reconstitution of a firm, the value of land

was to be appreciated by ¥ 200,000 and plant and

machinery was to be reduced to ¥ 700,000 from

T 10,00,000. Gain or loss on revaluation will be :

(a) GainT 1,00,000 (b} Loss¥ 1.00,000

(¢) Loss¥ 500000 {d) GainT 500,000
(Term-1, 2021-232)

Kavita and Karan are partners in a firm sharing
profits and losses in the ratio 4 : 1. On 1% April
2021, they admitted Mohit for 1/4'" share in the
profits of the firrme The balance sheet of Kavita and
Karan showed stock at T 45,000, On admission of
new partner, the stock was found undervalued by
10%. The journal entry to give effect to the above
adjustment on Mohits admission will be :

Dehit Credit
Amount (T)  Amount (T)
{a}) Revaluation Afc Dwr. 5000
To Stock Afc 5,000
(b) Stock Afc Dr. 4,500
To Revaluation Afc 4500
(c) Stock Afc Dr. 5000
To Revaluation Afc 5,000
(d) Revaluation Afc Dr. 4,500
To Stock Adc 4500

(Term-I, 2021-23}
Roopa and Divya were partners in a firm. They
admitted Navin as a new partner for %"“‘ share in
the profits. On Navin's admission it was found that
there was a claim against the firm for damages for
which a liability for damages should be created.

Which of the following accounts will be debited for
creating the hability?
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[a) Profitand Loss Appropriation Account
[b) Profitand Loss Account
{c) Revaluation Account

(d) Profitand Loss Adjustment Account
(Term-, 2021 2?}

Santa and Banta are partners in a firm chargrng
profits in the ratio of 3: 2. Kanta was admitted as !

a new partner for %th share of profits. On Kanta's :

admission, it was decided that machinery would

be appreciated by 10% (Book value ¥ B0,000) and
Building would be depreciated by 20% (Book value :
T 2.00.000). Unrecorded Debtors of ¥ 1.250 would :
be brought to books. There was a liability of ¥ 2,750 ©
included in Sundry Creditors that is not be paid. ©
What will be the gainfloss on Revaluation? i
{a) Loss¥ 28000 (b) Loss¥ 40,000

[c) Profit? 28,000 (d) Profit ¥ 40,000

(Term-1, 2021-22) (i) |

(5/6 marks)

57. Achlaand Bobby were partners in a firm sharing profits and losses in the ratio of 3: 1. On 31 March, 2019, their

58.

- M (1 mark)

55. Givethe accounting entry for an unrecorded liability

in case of reconstitution of a partnership firm.
(Al 2019)

YT (3/4 marks)

! 546. Raka, Seema and Mahesh were partners sharing
profits and losses in the ratio of 5 : 3 : 2. With effect
from 1% April, 2019, they mutually agreed to share
profits and losses in the ratioof 2 : 2 : 1. On that
date, there was a workmen's compensation fund of
T 20,000 in the books of the firm. It was agreed that:
(i} Goodwill of the firm be valued at ¥ 70,000,
fii) Claim for workmen's compensation amounted

tor T 40,000,
fiii} Profitonrevaluationof assetsandre-assessment
of liabilities amounted to T 40,000,
Pass necessary journal entries for the above
transactions in the books of the firm. {20200

balance sheet was as follows:

Balance Sheet of Achla and Bobby as on 31* March, 2019

Liabilities Amount () Assets Amount (T)

Creditors 1,210,000 | Cash at bank &0.000
General Reserve 40,000 | Debtors 40,000
Workmen's compensation reserve 50,000 | Stock 45,000
Capitals : Furniture 1,55,000
Achla 400,000 Land & Building 5.00.000
Bobby 200,000 6,00,000

8,00,000 8,00,000

On 1% April, 2019, they admitted Vihaan as a new partner for 1/5%" share in the profits of the firm on the following terms:

(a) Vihaanbrought ¥ 1.00,000 as his capital and the capitals of Achla and Bobby were to be adjusted on the basis
of Vihaan's capital; any surplus or deficiency was to be adjusted by opening current accounts.

(b) Goodwill of the firm was valued at ¥ 4,00,000. Vihaan brought the necessary amount in cash for his share of
goodwill premium, half of which was withdrawn by the old partners.

(c) Liability on account of workmen's compensation amounted to T 80,000,

(d] Achlatook over stock at ¥ 35,000.
ie) Land and building was to be appreciated by 20%.

Prepare revaluation account, partner’s capital accounts and the balance sheet of the reconstituted form on

Vihaan's admission.

(2020)

T and M were partners in a firm. On 31 March, 2018, they decided to admit M as a new partner. On 31* March,

2018 the Balance Sheet of T and M stood as fallows @

Balance Sheet of T and N as at 31.3.2018

Liabilities Amount (T) Assets Amount (¥}
Creditors 18,000 | Cash at Bank 1.000
General Recerve 2,000 | Debtors 40,000
Capital : Stock 6,000
T 30,000 Furniture 3,000
M 15.000 45,000 | Freehold Property 15,000
65,000 65,000

They agreed to admit M as a new partner subject to the following terms and conditions :
(il M will bring in ¥ 20,000 of which ¥ 4,500 will be treated as his share of poodwill premium to be retained in the

business.
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(i) M will be entithed to %*—h share of the profits in the firm.

(i) A provision for doubtful debts was to be created at 5% on the debtors.
(W) Furniture was to be depreciated by 5%.
(v) Stockwas tobe revalued at ¥ 5,000
Prepare Revaluation Account, Partner's Capital Accounts and Opening Balance Sheet of the new firm.

(A1 2019) (V)

. Chander and Damini were partners in a firm sharing profits and losses equally. On 31* March, 2017 their Balance

Sheet was a5 follows :
Balance Sheet of Chander and Damind as on 31.3.2017

Liabilities Amount [T) Assets Amount [¥)
Sundry Creditors 1.04,000 | Cash at Bank 30,000
Capital: Bills Receivable 45,000
Chander 2.50.000 Debtors 75,000
Dramini 2.16,000 4,646,000 | Furniture 1,10,000
Land and Building 3.10.000
5.70,000 5.70,000

rd

On 1.4.2017, they admitted Elina as a new partner for E::- share in the profits on the following conditions :

(i} Elinawill bring ¥ 3,00.000 as her capital and ¥ 50,000 as her share of goodwill premium, half of which will be
withdrawn by Chander and Damini.

(ii} Debtors tothe extent of ¥ 5,000 were unrecorded.

i) Furniture will be reduced by 10% and 5% provision for bad and doubtful debts will be created on bills
receivables and debtors.

(iv) Walue of land and building will be appreciated by 20%.

(v) There being a claim against the firm for damages. a liability to the extent of ¥ 8,000 will be created for the
SAMme.

Prepare "Revaluation Account and Partners’ Capital Accounts. (2018)

Charu and Harsha were partners in afirm sharing profits in the ratio of 3:2. 0On 1.4.2014, their Balance Sheet was

as follows :
Balance Sheet of Charu and Harsha as on 1.4.2014

Liabilities Amount [¥) Assers Amount (¥)

Creditors 17,000 | Cash 6,000
General Reserve 4,000 | Debtors 15,000
Workmen Compensation Fund 000 | Imvestments 20,000
Imvestment Fluctuation Fund 11,000 | Plant 14,000
Provision for bad debts 2,000 | Land and Building 38,000
Capitals :

Charu 30,000

Harsha 20,000 50,000

93,000 93,000

On the above date, Vaishali was admitted for 1/4% share in the profits of the firm on the fallowing terms

{a) Vaishali will bring ¥ 20,000 for her capital and ¥ 4,000 for her share of goodwill premium.

(b) All debtors were considered good.

(e] The market value of imestments was T 15,000.

(d) Therewas aliability of ¥ 6,000 for workmen compensation.

(e} Capital accounts of Charu and Harsha are to be adjusted on the basis Vaishali's Capital by opening current
accounts,
Prepare Revaluation Account and Partner's Capital Accounts. (Dedhi 20015)

O, Ram and Shanti were partners inafirm sharing profits in the ratio of 3: 2: 1. On 1* April, 2014, their Balance
Sheet was as follows :
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Balance Sheet of Om, Ram and Shanti as on 1% April, 2014

Liabilities Amount (¥) Ascets Amount (T)

Capitals : Land and Building 3,564,000
Om 3.58.000 Plant and Machinery 2.95,000
Ram 3.00,000 Furniture 233000
Shanti 2 &2.000 9.20,000 | Bills Receivables 38,000
General Reserve 48 000 | Sundry Debtors 20,000
Creditors 1.60,000 | Stock 111,000
Bills Payable 90,000 | Bank 87,000
12,18,000 12.18.000

On the above date Hanuman was admitted on the following terms:
(i} Hewillbring ¥ 1.00.000 for his capital and will get 1/10th share in the profits.

(i}

¥ 3,00,000.
(i)
iv)
(v)
(i)

by opening current accounts.

A liability of ¥ 18.000 will be credited against bills receivables discounted.
The value of stock and furniture will be reduced by 20%.

The value of land and bullding will be increased by 105,

Capital accounts of the partners will be adjusted on the basis of Hanuman's capital in their profit sharing ratio

Prepare Revaluation Account, Partneer's Capital Accounts,

Mohan, Mahesh were partners in a firm sharing profits in the ratio of 3: 2. On 1% April, 2012 they admitted Musrat
as a partner in the firm. The Balance Sheet of Mohan and Mahesh on that date was as under :
Balance Sheet of Mohan and Mahesh as on 1% April, 2012

He will bring necessary cash for his share of goodwill premium. The goodwill of the firm was valued at

(Delhi 2014)(EV]

Liabilities Amount (€) Aszets Amount (T)

Creditors 210,000 | Cashin hand 140,000
Workmen's Compensation Fund 250,000 | Debtors 1,460,000
General Reserve 160,000 | Stock 120,000
Capitals : Machinery 1.00,000
Mohan 1.00,000 Building 2.80,000

Mahesh 80,000 1.80,000
8.00,000 8.00,000

It was agreed that :

{i} The value of building and stock be appreciated to ¥ 380,000 and ¥ 140,000 respectively.

(i)
{iif)
(i)

The liabilities of workmen's compensation fund was determined at ¥ 230,000
Musrat brought in her share of goodwill ¥ 1,00.000 in cash
Musrat was to bring further cash as would make her capital equal to 20% of the combined capital of Mohanand

Mahesh after above revaluation and adjustments are carried out

(v

The future profit charing ratio will be Maohan 2/5™, Mahesh 2/5%, Mugrat 1/5™".

Prepare Revaluation Account, Partner's Capital Accounts and Balance Sheet of the New Firm. Also show clearly

the calculation of Capital brought by Nusrat.

(Dedhi 2014)

Shikhar and Rohit were partners in a firm sharing profits in the ratio of 7 : 3. On 1% April. 2013 they admitted Kavi
as a new partner for 1/4™ share in profits on the firm. Kavi brought ¥ 4,30,000 as his capital and ¥ 25,000 for his
share of goodwill premium. The Balance Sheet of Shikhar and Rohit as on 1* April, 2013 was as follows:

Balance Sheet of Shikhar and Rohit as on 1% April, 2013

Liabilities Amount (¥) Aszets Amount (¥)

Capitals : Land and Building 3.50,000

Shikhar 8.00,000 Machinery 450,000
Rohi 3.50,000 11.50,000 | Debtors 220,000

General Reserve 1.00,000 | Less : Provision 20,000 200,000

Waorkmen's Compensation Fund 100,000 | Stock 3.50,000

Creditors 150,000 | Cash 1.50,000

15.00,000 15.,00,000
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It was apread that :
(i) The value of Land and Building will be appreciated by 20%.

(i) The value of Machinery will be depreciated by 10%

(iii} The liabilities of Workmen's Compensation Fund was determined at ¥ 50,000.

{iv] Capitals of Shikhar and Rohit will be adjusted on the basis of Kavi's capital and actual cash to be brought in or
to be paid off as the case may be.

Prepare Revaluation Account, Partners Capital Accounts and the Balance Sheet of the New Firm.

(8 marks)

(Al 2014)

R and S were partners in a firm sharing profits and losses in the ratio of 3:2. Their Balance Sheet as at 31* March,

2020 was as follows:

Balance Sheet of R and S as at 31% March, 2020

Liabilities Amount (T) Assels Amount (T}

Capitals : Cash at Bank 10,000

R &0,000 Debtors 65,000

5 40,000 100,000 | Less : Prowvision for

General Reserve 20,000 | Doubtful Debts 5,000 &0.000
Creditors 20,000 [ Stock 20,000
Bills Payable 20,000 | Machinery 50,000
Land and Building 20,000
160,000 1,560,000

M was admitted on the above date as a new partrer for 1/5%" share in the profits of the firm The terms of agreement
were as follows

(i} M will bring ¥ 80,000 as his capital and ¥ 40,000 as his share of geodwill premium.

(i} Machinery was revalued at ¥ 45,000.

Stock will be reduced by 10% and Land and Building will be appreciated by 40%. Prepare Revaluation Account and
Partners’ Capital Accounts. {2021 C)

W and R are partners in a firm sharing profits in the ratio of 3: 2. Their Balance sheet as on 31% March, 2016 was
as follows:
Balance Sheet of W and R as on 31-3-2016

Liabilities Amount () Assets Amount (€}
Sundry Creditors 20,000 | Cash 12,000
Provision for Bad Debts 2,000 | Debtors 18,000
Outstanding Salary 3000 | Stock 20,000
General Reseree 5,000 | Furniture 40,000
Capitals : Plant & Machinery 40,000
W &0,000
[ 40,000 1.00,000
1,330,000 1.30.000

On the above date C was admitted of i th chare in the profits on the following terms :

(i} C will bring ¥ 30,000 as his capital and ¥ 10,000 for his share of goodwill premium, half of which will be
withdrawn by W and R.

(i} Debtors T 1,500 will be written off as bad debts and a provision of 5% will be created for bad and doubtful
debts.

(ili} Outstanding salary will be paid off.

(iv) Stock will be depreciated by 10%, furniture by ¥ 500 and Plant and Machinery by 8%.

{v) Investments ¥ 2,500 not mentioned in the balance sheet were to be taken into account.

(vi) Creditor of ¥ 2,100 not recorded in the books was to be taken into account.

Pass necessary Journal Entries for the above transactions in the books of the firm on C's admission

(Dethi 2017) ()



2.8 Adjustment of Capitals
MCcQ

66, Seema and Teena are partners in a firm sharing profits and lossesin the ratio of 3 : 2. They agreed to admit Reena

1
into partnership for — " chare of profits on 1 April, 2021. On that date, workmen's compensation fund stood
in the balance sheet 3t ¥ 50,000, The hability against workmen's compensation fund is determined at ¥ 20,000
which is to be paid later in the yvear. What will be the Journal Entry for the treatment of Workmen compensation

fund on the admission new partner Reena?
(a) Workmen Compensation fund Ak Dr.
To Seema’s Capital Afc
To Teena's Capital Afc
Workmen Compensation fund A/
To Revaluation Afc
To Seema's Capital Afc
To Teena's Capital Afc
Workmen Compensation fund Afc
To Workmen Compensation Claim Afc
To Seema’s Capital Afc
To Teena's Capital Afc
(d) Workmen Compensation fund Afc
To Seema's Capital Afc
To Teena's Capital Afc

Disha and Abha were partners in a firm. Farad was |
admitted as a new partner for 1/5™ share in the profits
of the firm. Farad brought proportionate capital.
Capitals of Disha and Abha after all adjustments
were T 64,000 and ¥ 446,000 respectively. Capital

brought by Farad was :
{a} 22000

{c) ¥55000

BEYTI (3/4 marks)

S8, Asha and Aditi are partners in a firm sharing profits

and losses in the ratio of 3 : 2. They admit Raghav
th
as a partner for % share in the profits of the firm.

Raghav brings ¥ 6,00.000 as hiz capital and his share
of goodwill in cash. Goodwill of the firm is to be
valued at two years’ purchase of average profits of |

YT (8 marks)

(bl
Dr.

(c)

Dir.

&7.

(b) ¥27,500
(d) %28.000 [l’ﬂiﬂl

T T
30,000
18,000
12,000
50,000
20,000
18,000
12,000
50,000
20,000
18,000
12,000
50,000
30,000
20,000 (Term-1, 2021-22) (1)

the last four years.
The profits of the firm during the last four years are

given below :

Year Profit (¥)
2013 - 14 3,50,000
2014 - 15 475,000
2015 - 16 6,70,000
2016 - 17 7.45,000

The following additional information is given :

fil  To cover management cost an annual charge
of T 54,250 should be made for the purpose of
valuation of goodwill.

{ii} The closing stock for the year ended 31.3.2017
was overvalued by T 15.000.

Pass necessary journal entries on Raghav's admission
showing the working notes clearly. [2018] E_hi

49, Sanjana and Alok were partners in a firm sharing profits and losses in the ratio 3 : 2. On 31 March, 2018 their

Balance Sheet was as follows ¢

Balance Sheet of Sanjana and Alok as on 31-3-2018

Liabilities Amount (T) Assets Amount (€}

Creditors &0.000 | Cash 1,646,000
Workmen's Compensation Debtors 146,000

Fumnd &0.000 | Less : Provision

Capitals : for doubtful debts 2,000 1.44 000

Sanjana 5,00,000 Stock 1.50,000

Aok 4.00,000 200,000 | Investments 260,000

Furniture 300,000

10,20.000 10,20.000




On1* April, 2018, they admitted Midhi as anew partner
far 1/4™" share in the profits on the following terms :
{a} Goodwill of the firm was valued at ¥ 400,000 :

and MNidhi brought the necessary amount in cash :

fd) Lily's Current Ak Dr 140,000
To Mani's Capital Adc 1.00,000
To Neeru's Capital Afc 40,000
{Term-f, 2021-22)

for her share of goodwill premium, half of which - M (1 mark)

was withdrawn by the old partners.
(b} Stockwas to be increased by 20% and furniture :
was to be reduced to 909
{c)  Investments were to be valued at ¥ 3,00,000.
Alok took over investments at this value.
(d) Nidhi brought ¥ 3,00,000 as her capital and the
capitals of Sanjana and Alok were adjusted in the
new profit sharing ratio.
Prepare Revaluation Account, Partners Capital :

: 71 Ananat, Gulab and Khushbu were partners in a firm

sharing profits in the ratioof 5: 3: 2. From 1.4.2014,
they decided to share the profits equally.

For this purpose the goodwill of the firm was valued
at ¥ 2,40,000.

Fass necessary journal entry for the treatment of
goodwill on change in the profit sharing ratio of

Ananat, Gulab and Khushbu. (A12015)(1]

Accounts and the Balance Sheet of the rer_nnstituted AN (3/4 marks)

firm on Midhi's admission. fDe.I'hiE'ﬂiFJ

T-'I Kumar, Gupta and Kavita were partners in a firm

2.9 Change in Profit Sharing Ratio
Among the Existing Partners

MCQ

70. Maniand Meeru are partners in a firm sharing profits
in the ratio of 5: 3. On 1-4-2021, they admitted Lily !

as a new partner on the following terms : i

(i} The new profitsharing ratiowillbe2:3:3. i

(i} Lily will bring ¥ 100,000 for her capital and :

the necessary amount of goodwill premium in :

cash. i

{iii) Goodwill of the firm was valued at ¥ 140000, ¢

The Journal Entry for treatment of goodwill premium :
brought by Lily will be

¥ ¥
(2) Premium for Goodwill A/c Dr. 52,500
To Mani's Capital Ade 37,500
To Meeru's Capital Ajc 15,000
{b) Premium for Goodwill A/ Dr. 52,500
To Mani's Capital Afc 52500
(e} Premium for Goodwill A/c Dr. 52,500
Meeru's Capital Afc Dr. 12,500
To Mani's Capital Ak &5,000

(5/6 marks)

sharing profits and losses equally. The firm was
engaged in the storage and distribution of canned
juice and its podowns were located at three different
places in the city. Each godown was being managed
individually by Kumar, Gupta and Kavita. Because
of increase in business activities at the godwon
managed by Gupta, he had to devote more time.
Gupta demanded that his share in the profits of the
firm be increased, to which Kumar and Kavita agreed.
The new profit sharing ratio was agreedtobe1:2: 1.
For this purpose the goodwill of the firm was valued
at two years purchase of the average profits of last
five years. The profits of the last five years were as
follows :

Years Profit (T)
I 400,000
]} 4 80,000
1] 7.33,000
IV {Loss) 33,000

" 2.20,000

You are reguired to

Fass necessary journal entry for the treatment of
goodwill on change in profit sharing ratio of Kumar,
Gupta and Kavita. (Delhi 2015)

73, PG, Rand 5were partners in a firm sharing profits in the ratioof 1: 4 : 2: 3. On 1-4-2014, their Balance Sheet

was as follows :

Balance Sheetof P O, Rand 5 as on 1-4-2016

Liabilities Amount () Assets Amount (¥)

Capitals Fixed Assets 12,770,000

P 2.00,000 Current Assets 5,30,000

Q 3,00,000

R 4,000,000 14,00,000

5 5,00,000 2,30,000
Sundry Creditors
Workmen Compensation Reserve 1.70,000

18,00,000 18,00,000
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From the above date the partners decided to share the future profits equally. For this purpose, the goodwill of the

firmwas valued at T 2.70,000.

The partners also agreed for the following :

(i} Claim against workmen compensations reserve was estimated at ¥ 2.00,000.

(ii) Capitals of the partners was to be adjusted according to the new profit sharing ratio by bringing or paying cash

as the case may be,

Prepare Revaluation Account, Partners Capital Accounts and Balance Sheet of the reconstitubed firrm

(Dethi 2017)

Ashok, Bhim and Chetan were partners in a firm sharing profits in the ratioof 3 : 2 © 1. Their Balance Sheet as on

31.3.2015 was as follows :

Balance Sheet of Ashok and Bhim as on 31.3.2015

Liabilities Amount (%) Assets Amount (¥)
Creditors 100,000 | Land 100,000
Bills Payable 40,000 | Building 1.00.000
General Reserve &0,000 | Plant 200,000
Capitals : Stock 80,000
Asholk 200,000 Debtors 60,000
Bhim 100,000 Bank 10,000
Chetan 50,000 3.50,000
5.50,000 5.50,000

Ashok, Bhim and Chetan decided to share the future profits equally, wee f April 1, 2015, For this, it was agreed that :
(a) Goodwill of the firm be valued at ¥ 3,00,000.
(b) Land berevalued at T 1,560,000 and building be depreciated by 6%.

(e) Creditors of ¥ 12,000 were not likely to be claimed and hence be written off.
Prepare Revaluation Account, Partner's Capital Accounts and Balance Sheet of the reconstituted firm. (Dedhi 2016)

75. R,5and T were partners in a firm sharing profits in the ratio of 1: 2 : 3. Their Balance Sheet as on 31.3.2015 was
as follows :
Balance Sheetof R, Sand T a5 on 31.3.2015
Liabilities Amount () Assets Amount (¥)

Creditors 50,000 | Land 50,000
Bills Payable 20,000 | Building 50,000
General Reserve 30,000 | Plant 1,000,000
Capitals : Stock 40,000
R 1,00.000 Debtors 30,000
5 50,000 Bank 5,000

T 25,000 175,000
275,000 275,000

R, 5 and T decided to share the profits equally with effect from 1.4.2015. For this, it was agreed that;
(a) Goodwill of the firm be valued at ¥ 1,50,000.
(b) Land be revalued at ¥ 80,000 and building be depreciated by 6%.

(c) Creditorsof ¥ 6,000 were not likely to be claimed and hence be written off.
Prepare Revaluation Account, Partner's Capital Accounts and Balance Sheet of the reconstituted firm.  [Al 2014)

\ CBSE Sample Questions /

2.3 New Profit Sharing Ratio

1. A and B are partners in the ratio of 3:2. C is admitted as a partner and he takes %™ of his share from A B gives 3714
from his share to C. What is the share of C?
(a) 174 (b) 1716 () 1/6 d) 1/16

(Term-1, 2021-22) (&)



2.5 Goodwill

r A

MCOQ

Mawvya and Radhey were partners sharing profits and losses in the ratio of 3: 1. Shreya was admitted for 1/5"
share in the profits. Shreya was unable to bring her share of goodwill premium in cash. The journal entry

recorded for goodwill premium is given below:

Date Particular LF Debit (¥) Credit (€)
Shreya's Current Afc. Dr. 24 000
To Mawya's Capital Ajc B.000
To Radhey's Capital Ajc 16,000
{Being entry for goodwill treatment passed)
The new profit-sharing ratio of Navya, Radhey and Shreyva will be:
(a) 41:7:12 (b} 13:12:10 (e} 3:1:1 (d) 5:3:.2 {2022-23})

If average capital emplayed in a firm is ¥ 800000, : 2.7 Revaluation of Assets and

average of actual profits i= ¥ 180000 and normal
rate of return is 10%, then value of goodwill as per :

£ 7,

capitalisation of average profits is:

{a) ¥ 10.00,000 (6] % 18,00,000
{c) % 80.00,000 (d) T 78.20,000 :
(Term-1, 2021-22) |

Kalki and Kumud were partners sharing profits and :
losses in the ratio of 5:3. On 1% April 2021 they |
admitted Kaushtubh as a new partner and new ratio :

was decided as 3:2:1.

Goodwill of the firm was valued as T 3.60.000.
Kaushtubh couldn't bring any amount for goodwill.
Amount of goodwill share to be credited to Kalki

and Kumud Account's will be: -

(a}) T37500and ¥ 22,500 respectively
(b) ¥ 30,000 and T 30,000 respectively
e} ¥34&000and T 24,000 respectively
(d) ¥45,000and ¥ 15.000 respectively

was contributed by Nisha

Goodwill of the firm is valued at ¥ 40,000, How
miuch amaunt for goodwill will be credited to Nisha's :

Capital account?
(a) ¥ 2500 L+
{e) ¥ 20,000 (d)

T 5,000
40,000

admission of a new partner?

(a) When new partner brings only a part of his share

of goodwill.

of goodwill.

{c) When,atthe time of admission, goodwill already

appears in the balance sheet.

(d) When new partner brings his share of goodwill
(2020-21) :

incash.

(Term-1, 2021-22) |

Asha and Misha are partners sharing profits in the :
ratio of 2:1. Kashish was admitted for 1/4™ share
of which 1/8'™ was gifted by Asha. The remaining

(Term-1, 2021-22) (i)

For which of the following situations, the old profit
sharing ratio of partners is used at the time of

() When new partner is not able to bring his share | 10

Reassessment of Liabilities

Arun and Vijay are partners in a firm sharing profits
and loszes in the ratio of 5:1.
Balance Sheet [Extract)

Liabilities L 4 Assets L3

40.000
If the value of machinery reflected in the balance
sheet is overvalued by 33%‘3&.. find out the value
of Machinery to be shown in the new Balance Sheet:

Machinery

{a) T44,000 (b) 48000
(¢} 232,000 (d) ¥ 30,000
(Term-l, 2021-22)

At the time of reconstitution of a partnership firm,
recarding of an unrecorded liability will lead to:
{a) Gainto the existing partners

(b} Loss to the existing partners

(e} Meither gain nor loss to the existing partners

(d) Mone of the above (Term-I, 2021-22)

At the time of admission of a partner, what will be

the effect of the following information?

Balance in Workmen Compensation Reserve

40,000, Claim for workmen compensation ¥ 45,000,

{a) ¥ 45000 Debited to the Partner’s Capital

Accounts.

(b) ¥ 40,000 Debited to Revaluation Account.

(e} ¥ 5000 Debited to Revaluation Account.

(d) ¥ 5,000 Credited to Revaluation Account.
(Term-1, 2021-23)

Revaluation of assets at the time of reconstitution
is necessary because their present value may be
different from their:

{a) Market Value {b)
{e) Costof Assaet {d)

Met Value
Baook Walue,
(Term-I, 2021-22)



11.

Angle and Circle ware partners in a firm. Their :
Balance Sheet showed Furniture at ¥ 2,00.000; :
Stock at T 1,40,000; Debtors at ¥ 1,62,000 and :
Creditors at ¥ &60,000. Square was admitted and
new profit-sharing ratio was agreed at 2:3:5. Stock
was revalued at T1,00,000, Creditors of ¥15,000 are
not likely to be claimed, Debtors for ¥ 2,000 have :

become irrecoverable and Provision for doubtful
debts to be provided @ 10%.

Angle's share in loss on revaluation amounted to
T 30,000. Revalued value of Furniture will be:

{a} 217,000 (b) T 1,03.000
() T3,03000 {(d) T 1,83.000
(Term-I, 2021-22)

12. At the time of admission of niew partrer Vasu, old partners Paresh and Prabhav had debtors of ¥ 620,000 and
a provision for doubtful debts of T 20,000 in their books. As per terms of admission, assets were revalued,
and it was found that debtors worth ¥ 15,000 had turned bad and hence should be written off. Which journal
entry reflects the correct accounting treatment of the above situation.?

(a) Bad Debts Afe Dr. 15,000
To Sundry Debtors Adc 15,000

Provision for Doubtful Debts Afc Dr. 15,000
To Bad Debits Ak 15,000

)] Bad Debts Afe Dr. 15,000
To Sundry Debtors Ade 15,000

Revaluation Afe Dir. 15.000
To Prowvision for Doubtful Debis Adc 15,000

ic} | Revaluation Afc Dr. 15,000
To Sundry Debtors Adc 15,000

(d} Bad Dbt Aje Dr., 15,000
To Revaluation Adc 15,000

(Term-1, 2021-22) (R0

13. Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R):
Assertion (A): Revaluation Afc is prepared at the time of Admission of a partner.
Reason (R): It is reqguired to adjust the values of assets and liabilities at the time of admission of a partner, so
that the true financial position of the firm is reflected.
In the context of the above two statements, which of the following is correct?
{a) Both (A) and (R) are correct and (R) is the correct reason of (A).
(b) Both (A) and (R) are correct but (R) is not the correct reason of (A).
{e) Only(R)iscorrect.
(d) Both (A) and (R) are wrong.

Y (5/6 marks)

14, X and ¥ were partners in the profit-sharing ratio of 3:2. Their balance sheet as at March 31, 2022 was as

(Term-1, 2021-22)

follows:
Balance Sheet as at March 31, 2022
Liabilities Amount (T) Aszets Amount ()

Creditors 56,000 | Plant and Machinery 70,000
General Reserve 14,000 | Buildings Z8,000
Capital Accounts: Stock 21,000

X 1.19,000 Debtors 42 000
Y 1,12.000 2.31,000 | {-)Pravision 7,000 35,000
Cash In Hand 77,000
3.01,000 3,01,000

Z was admitted for 1/6 share on the following terms:

(i} Z will bring ¥ 56,000 a5 his share of capital, but was not able to bring any amount to compensate the
sacrificing partners.

(i} Goodwill of the firm is valued at ¥ 84,000

(iii)} Plant and Machinery were found to be undervalued by T 14,000 Building was to brought up to ¥ 1,09.000.

(iv) All debtors are good.

{v) Capitals of X and ¥ will be adjusted on the basis of 7's share and adjustments will be done by opening
nEcEssary current accounts.

You are required to prepare revaluation account and partners’ capital account. [2022-23]




(8 marks)

15. Sunaina and Tamanna are partners in a firm sharing profits and losses in the ratio of 3:2. Their Balance Sheet
ag at 31* March, 2020 stood as follows:

16.

17

Balance Sheet
Liabilities Amount (¥) Aszets Amount (¥)

Capital Accounts: Plant & Machinery 1.20,000

Sunaina &0,000 Land and Building 1.40,000

Tamanna 80,000 1,40,000 | Debtors 1.90,000
Current Accounts: Less: Prondision for

Sunaina 10,000 Doubtful debts ]dﬂz{}m! 1,50.000

Tamanna 20,000 40,000 | Stock 40,000
General Resprve 1,20,000 | Cash 20,000
Workmen's Compensation Reserve 50.000 | Goodwill 20,000
Creditors 1,500,000

5, 00,000 5,100,000

They agreed to admit Pranav into partnership for 1/5" share of profits on 13 April, 2020, on the following terms:

{a} All Debtors are good.

(b)) Value of land and building to be increased to ¥ 1,80,000.
{c) Valueof plant and machinery to be reduced by T 20,000,
(d) The liability against Workmen's Compensation Fund is determined at ¥ 20,000 which is to be paid later in the

year.

(e} Mr. Anil, to whom ¥ 40,000 were payable (already included in above creditors), drew a bill of exchange for

3 months which was duly accepted.

{fl Pranav to bring in capital of ¥ 1,000,000 and ¥ 10,000 as premium for goodwill in cash.

Journalise.

(2020-21)

Gautam and Yashica are partners in a firm, sharing profits and losses in 3:1 respectively. The balance sheet of

the firm as on 315 March 2018 was as follows:

Balance Sheet as at 31.3.2018

Liabilities Amount (T) Assets Amount ()
Sundry creditors 50,000 | Furniture 60,000
Bills payable 30,000 | Stock 1.40,000
Capitals Debtors 80,000
Gautarm 400,000 Cashinhand 90,000
Yashica 100,000 5,000,000 | Machinery 2,100,000
5.80,000 5,80,0:00

Asma is admitted as a partner for 3/8™ chare in the profits with a capital of ¥ 2,310,000 and ¥ 50,000 for her

share of goodwill. It was decided that:
(i} New profit sharing ratio will be 3:2:3

(i} Machinery will be depreciated by 10% and Furniture by ¥ 5.000.

(iii} Stock wasre-valued at ¥ 2,10,000.

(i)

Prowision for doubtful debts is to be created at 10% of debtors.

(v} The capitals of all the partners were to be in the new profit sharing ratio on basis of capital of new partner any

adjustment to be done through current accounts.

Prepare Revaluation Account, Partner’'s Capital Account and the Balance Sheet of the new firm. (2020-2 .'U{Ep.]
3.8 Adjustment of Capitals

brought by Sarazwati?

i 18
Ganga and Jamuna are partners sharing profits in
the ratio of 2:1. They admit Saraswati for 1/5t" share :
in future profits. On the date of admission, Ganga's :
capital was ¥ 1,02,000 and Jamuna's capital was :
T 73,000. Saraswati brings ¥ 25,000 as her share of ;
goodwill and she agrees to contribute proportionate ;
capital of the new firm. How much capital will be :

{a) 43750 (b) 37,500
() ¥ 50,000 {d) 40000 (2022-23)

Anubhav, Shagun and Pulkit are partners in a firm
sharing profits and losses in the ratio of 2:2:1, On
e April 2021, they decided to change their profit-
sharing ratio to 5:3:2. On that date, debit balance of
Profit & Loss Afc T 30,000 appeared in the balance
sheet and partners decided to pass an adjusting
entry for it

Which of the undermentioned options reflect
correct treatment for the above treatment?



{a) Shagun's capital account will be debited by :

¥ 3,000 and Anubhav's capital account credited §

by ¥ 3,000

(b) Pulkit's capital account will be credited by

¥ 3,000 and Shagun's capital account will be :
S & @ : 19. Gain / loss on revaluation at the time of change in

eredited by ¥ 3,000

{c) Shapun's capital account will be debited by
T 30,000 and Anubhav's capital account credited

by ¥ 30,000

(d) Shagun's capital account will be debited by
¥ 3.000 and Anubhav’s and Pulkit’s capital account -

credited by T 2,000 and ¥ 1,000 respectively.

(Term-l, 2021-22) |

3.9 Change in Profit Sharing Ratio
Among the Existing Partners

MCQ

profit sharing ratio of existing partners is shared by
(il whereas in case of admission of a partner it

is shared by (i) .

{a) (i) Remaining Partners, (i) All Partners.

(b) (i) All Partners, (i) Old partners.

(e} (i) New Partner, (ii) All partner.

(d) (i) Sacrificing Partner, (ii) Incoming partner.

(Term-l, 2021-22}

Detailed gje/RVagle] 3

E S 3
\  Previous Years' CBSE Board Questions

L [b): Reconstitution of Partnership Firm.

2. ld}: The maximum number of partners in a Partner-

ship Firm as per Companies Act, 2013 is 50. Therefore, :
i Mew share of Manu and Mamta is same as the old share.

Mew profit — sharing ratio = Manu : Mamta : Moti : Malini

the firm would be admitting 46 more partners in addition
to the existing four partners of the firm.

3. i)
as a partner in the firm.

(i} A personis guilty under Indian Penal Act.

4, [a): Calculation of New Profit Sharing Ratio :

Oild Share

Lezs @ Sacrifice

Blw niw x

Iu

4 3. 9

— . [ —
5 20 20
Then, new profit-sharingratio=X:Y: 2

9.7 l[iw-ﬂ] A

El"" Ell—lmlh.‘l -

A ka3

2

=]

Mew Share

=20 30 \5x4) 20774

5 [b):Leela: Meeta =7 : 3 (Old Ratio)
Geeta's Share of Profit= %

Remaining Profits = 1 - Geeta's Share

Lesla s Mew Share =

] —

13 107 13

Meeta's Mew Share -(Exi]-i
13 10/ 13

Mew profit sharing ratio = Leela : Meeta : Geeta

lﬂ?]?

6. e} :Malini"s share =

A person of unsound mind cannot be admitted

i Remalning Profits = ( -—]- —

P's Mew Share of Profits = (--—:u:m =-=—

R's New Share of Profits = [%x- - —

PPQiRil= — i

A's Mew share = Old Share -

l = Moti's share -l:n:i-i
2 2 15 34

Moti's New share = Old share - share given to Malini

BEiﬁ-ﬂE
133{531536

_5::1:2 . Gw2 ii

18=2 1Bx2 36 36
=10:10:8:8 ar
=5:5:4:4

i 7. (b):P:Q:R=2:2:1(0id Ratio)
: 1
i L's Share of Profit = =

1

-8

5) 5
4 2% 8
5 57 25
4 2} B

Q'!.Htwﬁ-har'eanmﬁLf.:(-x- -

5 5) 25
1} 4

5/ 25

Mew Profit-Sharing Ratio among the partners

8 8 4 1x5

—%2 -8:8:4:5
25 25 25  5x5

5

Share of Profit of L = 4,00,000 = E =T 80,000

Q will bear ¥ 20,000 deficiency (i.e., 100,000 - 80,000)
2. [(a):A:B=800000:1500000

=1:2(0ld Ratic)

C's share of profits
i =5hare given by A + Shares given by B

(1 1] [1] 1 1 3+4 7
=l —xX—|+| = | 2=+ —t——
4 3 9 12 'E" 36 36

Share given ta C

_[l_l]_ﬁ_i
LTI T T



B's New share = Old Share - Share given to C
_( 2 1]_15—1 g

39 g @9
MNew Profit sharing ratio=A:B:C
_3x3 ox4 7
12x3  9x4 36
=9:20:F
g [(b}:A:B:C=9:20:7(0ld Ratio)
[r¥'s share of profits -_;
Flﬁ-:ﬂainingPrnﬁt;v.:1—D‘sshare-1-1ni
5 ¢ 45 6 &
A's Mew share = =3 —m=——1
& 36 216
B's Mew share = E:n: E-E
& 36 216
i L T g
C's Mew share = ﬁxsﬁlziﬁ

MNew Profit sharing ratio=A:B:C:D
_ 45 100 35 1x36
C 2167 216 T 216 &x36
=45 :100 : 35 : 36

10. (b): 27:16:17

11. Shareof Chaman= %

Share acquired from Aman = %x E-l

5 30

To be acquired from Beena = %-E-E-i

30 30 30

12, A< new share after [:-%-[J.E;;,E.E

& 16 94
B's new share after D= E-llﬁlﬁ
T 24 24
C's new share after D.l_l. 16-4 .E
A 14 ] 25
O's share = le.E
8 12 94
Mew Ratio = A's B's C's Drg
48 26 : 10 y
A B's C's Cre
24 - 13 : 5 = &
13. P's new share after 5= 4_1 _48-6 42
& 16 26 ol
2 1 32-6 26
O's new share after E_E-E-?-ﬁ
. 1 16 14
R's new share after E—E:{EIE
% share 8517 98
MNew Ratio == P's O's R's 5's
42 26 : 16 : p
21 13 : g8 : )

14, (i) Caleulation of New profit sharing ratio of Sahil,
Charu and Tam :

i Sahil's Old Share =4/7

i Sahil Surrenders =1/5 = 1/2 = 1/10 in favour of Tanu

: Sahil's New Share = 4/7 - 1/10=33/70

i Charu's Old Share = 3/7

¢ Charu Surrenders = 1/5 = 1/2 = 1/10in favour of Tanu
. Charu's New Share = 3/7 - 1/10 = 23/70

! Tanu's Share = 1/10+ 1/10 = 2/10

! Mew Profit Sharing Ratio among Sahil, Charu and Tanu
i =33/70:23/70:2/10

i =33:23:14

i (i) Calculationof New Profit Sharing Ratio of Sahil. Cha-
i ru, Tanu and Puneet :

: Sahil's Old Share = 33/70

: Sahil Surrenders in favour of Puneet

=177 = 7f10=7/70

i 50, Sahil’s new Share = 33/70 - 7/70 = 26/70
: Charu's Old Share = 23/70
i Charu Surrender in favour of Puneet

=17 = 3M10=3/70

Charu's New Share =23/70 - 3/70 = 20070
i Tanu's Mew Share = 14,70

: Puneet's New Share = 1/7 or 10/70

Mew Profit Sharing Ratio among Partners

=26/70:20/70:14/70: 10/70
=26:20:14:10=13:10:7:5

15. Caleulation of Sacrificing Ratio :

: Sacrificing Ratio of Uday = 5710 - 3/10 = 2/10

¢ Sacrificing Ratio of Kaushal =5 /10 - 2/10 = 3/10

! Saerificing Ratio=2:3

Mew profit sharing ratio of Uday, Kaushal, Govind and Hari :
¢ Uday's New Share = 3/10 - 1/30

=930 - 1/30=8/30

Kaushal's New Share = 2/10 - 1/30

= &/30 - 1/30 = 5/30

{ Govind's New Share = 5/10 - 1/30

=15/30- 1/30 = 14/30

Hari's Mew Share = 1/30 + 1/30+ 1/30 = 3/30

Mew profit sharing ratio of Uday, Kaushal, Govind and
Hari on Hari's admission

=8:5:14:3

i Mew profit sharing ratio on Govind's death :

: Uday's New Share = 8/30 + 7/30 = 15/30

: Kaushal's New Share = 5/30

! Hari's Mew Share = 3/30 + 7/30 = 10/30

. Mew profit sharing ratio of Uday, Kaushal and Hari on
! Govind'sdeath=15:5:100r3:1:2

Related Theory | ESS
¥ -

315

= The purpose and importance of calculating sacrificing
ratio and gatning ratio is to determine the amount
of compensation (goodwill) that the gaining partner
should pay to sacrificing partner.

Le)
Journal entry :

Meera's Capital Afc
To Mallika's capital Ak

Dwr. | 2,000

2,000




Working Note :
Sacrificing/Gaining ratio:

MallTk M_n;:ra Madhu
Old share 2 2 1
5 "] 5
Less « Mew sharne -?- -5- 3—
15 15 i5
E g 1 1
SacrificefGrain v : vy -
1= {gain) +15

MNote : In case of adjustment of Accumulated loss,
Sacrificing partner will compensate the Gaining partner.
17, Sacrificing ratio
S:B:l—1:1:1
Sacrificing/Gaining ratio
Old ratio — New ratio.
Oldratio=AandB=4:3
MewratinA:B:C=3:2:2
Sacrificing ratioof B :

Old ratio - New ratio

3 2 1

T S
19. Calculation of sacrificing ratio :
Sacrificing ratio of Uday = 5/10 - 3710 = 2/10
Sacrificing ratio of Kaushal =5 /10 - 2/10=3/10
Sacrificing ratio=2:3
20, {a):T 40,000
Sahil's share=1/5t
Remaining share=4/5" : Rohit's share=4/5of 2/3=8/15
and Mohit’s share=4/5 of 1/3 =415,
50 new ratio will be= 8:4:3

21. (b):¥ 24,000

il

22, [c) : Net worth of the firm = Amit s Capital + Sumit's
Capital

=¥ (3,000,000 + 2,00,000) =T 5,00,000

Capitalised value of the average profits =¥ 8,50,000
Goodwill of the firm = Capitalised value of average profits
- Met worth

=¥ (8.50,000 - 5.00,000) =¥ 3,50,000

23. a): Goodwill is the intangible azsset which does not
have a physical existence. It is not a fictitious asset. It can
be sold with the sale of the business itself It is the repu-
tation of a firm which enables it to earn higher profits in
comparison to the normal profits earned by other firms
in the same business. Thus, both statements are correct.

18.

—_

—1
=

—

24, (d):

Year Profit | Adjustment | Normal Profit (¥)
20146-17 | 50000 - 50,000
2017-18 | 40,000 | +10,000 50,000
2018-19 | 75,000 - 75,000
2019-20 | (25.000) - (25,000)
2020-21 | 50,000 - 50,000

Total 2,00.000

00,000
(i —1 5 =T 40,000
(i) Goodwill = Average profit = Number of Year's Purchase
=¥ (40,000 = 3) =¥ 1,20,000
25. [a) : Average profit earned =¥ 40,000
Mormal rate of return = 12%
Capitalised value of the firm

Average profit =

100
Mormal Rate of Return

100
-E[ﬁl]ﬂ]]}-:vﬁ-—- = F E,EI‘D-,D[I]

Met Assets = Net Worth of the firm =3 4,00,000

Goodwill of the firm = Capitalised value of the firm - Net

worth

=T (5,000,000 - 4.00,000)

=3 1.00,000

[ Related Theory (I

= Under capitalisation of average profit method,

goodwill is calculated by deducting capital employed
{Le. net assels a5 on the date of valuation) from

capitalised value of average profit on the basis of
normal rate of return.

= Average Profit =

26, [a): Goodwill brought in by Malini for %th share
=3 30,000,000

i Goodwill of the firm = Malini's share of poodwill =

i 27

Reciprocal of her profit share

=ar[15m,nmx g] =7 1,35,00,000

[a] : Capitalised value of firm = Z's Capital =

4
Reciprocal of Z's Share = 200,000 = ~1-

=¥ 8,00,000
Met worth of the firm = Sum of Capitals of all the partners
(including new partner)
=¥ (2.00,000 + 3.00,000+ 2,00,000)
=T 7,00,000
Goodwill = Capitalised value of firm - Net worth of the firm
=¥ (8,00,000 - 7,00,000) =T 1.00,000
[B] : Waorking Notes :
Calculation of Sacrificing ratio

28
{i)

Old Share

MNew Share

Sacrificing share (5 2] 9 [3 2] e

. e | | === |=— (Gain
(Old share - Mew 20 8 5) ao
share)

| k3o | |
w| rajoo| ez

8 5

(i} Lsshareof Goodwill =2 (4,54],{1]]:{%]
=¥ 20,000

M's share of Goodwill = (4,51].!‘1]1]::{%]

=%11,250



In the books of R, M &L

Journal
Date Particular L.F Dr. (¥) Cr. (%)
L's Capital Ajc Dr. 90,000
M's Capital Afc Dir. 11250
To R's Capital Afc 1,01,250
(Being goodwill adjusted at the time of admission)
29, [a): Actual profit less Normal profit I 31 No, the accountant was not correct
30. Mitali's share in profit = 1/10 . Reason:Since the new partners has brought his share of
Atul's new share = 3/5 - 1/10 = 5/10 i goodwill in Cash, it cannot be shown in the books. Only
Meera's new share = 2/5 i purchased goodwill can be recorded in the books of ac-
Mitali's chare = 1/10 i counts as some consideration is paid for it
.5 In the books of Kabir and Farid
Journal
Date Particulars LF. Dr. (€) Cr.(®¥)
2012 April | Premium for Goodwill Alc Dir. 51.000
01 To Kabir's Capital Afc 38,250
To Farid's Capital Afc 12,750
(Being share of goodwill credited to the existing partrers in 3 ; 1)
Working Motes :

Average Profit for the last three years = (90,000 + 1,30,000 + 856.000)/3 =T 1,02,000

Goodwill of the firm = Average Profits of the last three yvears = Number of Years” Purchase

=¥ ({1,02,000 = 2} =¥ 2,04,000

Manik's share of goodwill =¥ (2,04,000 = 1/4) =% 51,000

Sacrificing Ratio among the partners will be same as old ration = 3: 1

MNote : Loss due to fire has not been accounted for thus; the profits for the year 2018-19 are normal profits only.

33. Actual profits =% 3,00,000 i 34, Adjusted Profit
Met Tangible Assets = Assets - Liabilities 2015-16 : 4,00,000 - 50,000 = 3,50.000
=¥17.00,000 - ¥ 2,00,000 : 2016-17 : 5,00,000 + 1,00,000 = 6,00,000
=¥ 15,00.000 i
' i 2017-18:2,50,000
Capitalised value of the firm = (Average Profits = 100)/ B ;
i Average adjusted profit
Mormal rate of return i
= (¥ 3,00,000 = 100)/15 P 3,50,000 + 6,00.000 + 250,000 i 12.00,000
=3 20,000,000 3 3
Goodwill = Capitalised value of the firm - Net tangible assets ;| =4,00,000
=¥ 20,00,000 - ¥ 15,00,000 =¥ 5,00,000 ! Goodwill =4,00,000 = 3=7 12,00.000
as.
Date Particulars Dr.(¥) Cr.(¥)
Bank Afc Dr. 2.30,000
To Kurmar's Capital Afc 200,000
To Premiurm for Goodwill Afc 30.000
(Being Kumar admitted and brought his share of Capital and Goodwill)
Premium for Goodwill Afc Dir. 20,000
To Anupama’s Capital Adc 30,000
(Being goodwill adjusted)
Working notes :
Mirupama — %-E-D s Anupama—» g- -3---:—
Sacrificing Ratio—0:2
1

Kumar's share of Goodwill = 120000 = E =¥ 30,000



Reconstitution of a Partrership Firm : Admission of a Partner

6. Old profit sharing ratio of Karanand Varun=1:2.

Kishor admitted as a new partner on .E

1th
share.

MNew profit sharing of Karan, Varun and Kishor :

2 1 8=3 5

Varun's Newshare s == —m = —

34 12 12
1.4 4

Karan's Mew share =—x—=—

1. 3
Kishor's Mew share =2 —X—=—

3 4 12
3

4 3 12

Mew ratio among Karan, Varun, Kishor=5:4: 3.

Goodwill of the firm

Fixed capital of the firm = Karan's Capital + Varun's Capital + Kishor's Capital
=2 00,000 + 300,00 + 2,000,000 =¥ 7,00,000

Journal Entry

67

Particulars

Dr. (¥)

Cr.(¥)

(i)

(i)

Cash Afc Dr.
To Kishor's Capital Afc
(Capital brought in cash)

2,00,000

2,00,000

Kishor Current Afc Dir.
ToVarun's Current Afc

(Being the value of goodwill give to Varun because he is sacrificing on admission of

Kishor)

25,000

25,000

Working Mote : Kishor's share in goodwill = Total goodwill of the firm = Share of Kishor

Kishor's Goodwill should be < -

4
Total capital of firm should be = [1[!].“]]}{-;] = 8,00.000

Total capital of firm = 700,000
Goodwill of the firm = 1,00,000

1
Goodwill of Kishor = Lm,ﬂ:ﬂx; =3 25,000

37.

When there is a change in profit sharing ratio.

{ii) When partnership is sold as a going concern.
{iii) When two firms amalgamate.

38. Based on Aditi's share, the total capital of the new firm ought to be :

T 1.00.000 = =

Less

Value of Goodwill of firm

: Capital of Saloni
Capital of Shrishti
Capital of Aditi

'5 =7 6,00,000
¥ 200,000
T 1.50.000
T 1.00,000
(2,50,000)
150,000

1
Aditi's share of poodwill =¥ 1,50,000 = r4a T 25,000.

Journal

L4 Particulars L.E

Dr. (%)

Cr.(€)

1] Bank Adc Dr.
To Aditi Capital Afc
(Being Cash brought in by Aditi as her Capital)

1.00,000

1,00,000

(i) Aditi's Capital Afc Dr.
To Saloni's Capital Afc
To Shrishti's Capital Afc
{Being the amount of premium distributed in socrificing partners in
their sacrificing ratio L& 7:3)

25,000

17,500
7.500




39. Based onSomesh's share the total capital of the new firm will be
=3 120000 = 5/1 =T 500,000

Less : Capital of Hemant =% 1,860,000

Capital of Mishant = ¥ 1,00,000

Capital of Somesh =% 1,20,000

Goodwill of the firr =T 2, 20,000

Share of Somesh’s Goodwill = 2,220,000 = % = F44 000

Total Accumulated Profits = 8,000 + 4,000 = 12 000

Charu's share = 12,000 = % =T 1,000

Arun and Babita share = 12,000 = % =T 500

Concept Applied {{&]

Journal
Date Particulars LE Dr. (¥} Cr. (¥)
Bank Afc Do 1.20,000
To Somesh's Capital Afe 1.20,000
{Being Cash brought in by Aditi as her Capital)
Somesh's Capital Alc Dr. 44,000
To Hemant's Capital Afc fgﬂ
To Nishant's Capital Ak ;
{Being the share of Somesh goodwill credited to Hemant and Hishani
in their sacrificing ratio e, 3: 2)
40. (a) Journal entry
Particulars L4 L4
Charu's Capital Afc Dr 1,000
To Arun's Capital Afc 500
To Babita's Capital Adfc 500
(Being adjustment entry passed)
Working note :
Sacrificing/gaining ratio:
Arun Babita Charu
Oild share 3 3 2
8 8 8
Mew share 1 1 1
3 3 3
SR/GR 1 1 =3 (gsin)
—_— —_ — [gain
24 24 24 &

= Always remember, if any old partner also gains, he will also compensate the sacrificing partner(s). His capital/current

account will also be debited.

41, [c) : Het amount to be adjusted among the partners will be computed as follows @

Particulars Amount (T)
General Reserve (Cr) 20,000
Profit & Loss Account (Dir.) (30.000)
Net effect (10.000)

As the net effect is an accumulated loss to be debited to the partners so the journal entry will be as follows :




In the book of Anisha and Harit

Journal
Date Particular L.F. Dr. (%) Cr.(0
Harit's Capital Afc Dr. 2,000
To Anisha's capital Afc 2,000
[ Being adjustment entry for accumulated profits and losses passed)

42, (a): Accumulated losses is distribubed among old partrers in old ratio. Journal entry for the distribution of profit
and loss account (debit balance) at the time of admission of Ganesh will be :

Date Particulars LF Dr. (T) Cr. (%)
Amar's Capital Afc Dr. 10,000
Sarnar's Capital &dc Dr. 50,000

To Profit & Loss AJfe 60,000

(Being debit balance Profit & Loss account distributed)

43, (] : Capital Accounts of old partners.
44 (a): Old partners in old profit sharing ratio
45, Mo, the accountant did not give correct treatment as :

admission of Anita.

i : SRR
Capitsl tntxaf theald Pas Sholld*e detitar In | were earlier written off as bad-debts, paid 4,000 in full

old profit sharing ratio. As this accumulated loss is before settlement. Bad debts recovered 4,000 will be debited to

i Cash/Bank A/c and credited to Revaluation Ale.

! incoming partner is neither put to an advantage nor to
i disadvantage due to change in the market value of assets
i and Habilities.

(al: On admission debtors whose dues of 75,000

46 bl Loss ¥ 1.00,000 i 50 (a): It will be distributed to old partners in old Profit
47 (b : In old profit sharing ratio Sharing Ratio. Transfer of loss on revaluation :
48. [a):ltis necessary to revalue assets and liabilities Old Partner's Capital Afc Dr.
of a firm in case of admission of a partner so that the * To Revaluation Afc
51 (b):
Dir. Revaluation Afc Cr.
Particulars L 4] Particulars (L4}
Plant and Machinery (Decreased) 300,000 | Land (Increased) 2.00,000
Loss on Revaluation 1.00,000
3.00,000 3.00,000
s 45,000
52. e} : As stock was undervalued by 10%. So, the original value of stock = mxlﬂﬂ- 50,000
S0, stock value will increase by ¥ 5.000. Journal entry will be
Date Particulars LF. Dr. (%) Cr.(¥)
Stock Afc Cer. 5,000
To Revaluation Afc 5,000
(Being stock undervalued by ¥ 5,000 corrected)

53. lc) : The claim against the firm for damages for which a liability has to be created, will be debited to Revaluation

Account.
54. (a)
Dr. Revaluation Afc Cr.
Particulars Amount () Particulars Amount (€)
To Building A/c 40,000 | By Machinery Afc 8,000
By Debtor Afe 1.250
By Creditors Ajc 2,750
By Loss on Revaluation Al 28,000
40,000 40,000




(5]
m

Particulars Dr. Cr.
Revaluation Afc Dir. =
To Sundry Liabilities Afe —
(Being unrecorded lability paid)
56. In the books of Raka, Seema and Mahesh
Journal
Date Particulars L.F. | Debit Amount (¥) | Credit Amount ()
2019
Apr. 01 | Seema’s Capital A/c (70,000 = 1,/10) Dir. 7000
To Raka's Capital Aje (70,000 = 1/10) 7.000
iBeing goodwill adjusted among partners)
Apr. 01 | Workmen Compensation Fund Afc Dir. 20,000
To Claim on the Fund Ade 40,000
To Raka's Capital Afe 25,000
To Seema’s Capital Afc 15,000
To Mahech's Capital Adke 10,000
i Being claim on workmen compensation provided and excess
distributed)
Apr. 01 | Revaluation A/t Dir. 40,000
To Raka's Capital Ade 20,000
To Seemna’s Capital Afc 12,000
To Mahesh's Capital Aje 8.000
{Being revaluation profit distributed)
Working Notes :
(il Calculation of Gain/Sacrifice
Particulars Raka Seema Mahesh
Old Ratio 5/10 3710 2410
Mew Ratio 2/5 2/5 1/5
Gain/Sacrifice (510 - 245} =1/10 (3710 - 2/5) = -1/10 (Gain) (2/10 - 1/ 5) = Nil
57. In the books of Achla, Bobby and Vihaan
Dr. Revaluation Afc cr.
Particulars Amount (¥) Particulars Amount ()
To Liability on workmen compensation 30,000 | By Land & Building 1.00,000
To Stock Afe 10,000
To Profit on revaluation trsnf. to :
Achla's Capital Afe 45,000
Bobby's Capital A/kc 15,000 60,000
1.00.000 1,000,000
D Partner's Capital AJe Cr.
Particulars Achia (¥)| Bobby (¥) | Vihaan (T) Particulars Achla(¥) | Bobby (%) | Vihaan (€)
To Bank Afe (withdrawn)| 30,000, 10,000 = By balance b/d 400,000 200,000 ==
To Stock Afc 35,000 — — By Bank Afc - — 1,.00,000
To Current Afc 170000 135000 = By Premium for 60,000 20,0007 =
To balance c/d 3000000 1.,00000 1.00,000Goodwill Afc
By General Reservie Aje| 30,000 10,000 -
By Revaluation AJjc 45,000 15,000 -
535,000 2.45,000( 1,00,000 535,000 245,000/ 1,00,000




Working Notes ;

(1) Calculation of Mew Profit -Sharing Ratio

: (3) Adjustment of Capital :

i Vihaan's Capital for 1/5% share = ¥ 1,00,000

For 1 whole share. capital of the firm =¥ (1,000,000 = 5)

=¥ 500,000

Mew Capital of Achla =7 (5,00,000 = 3/5) = ¥ 3,00.000

i New Capital of Bobby = ¥ (5,00,000 = 1/5) =¥ 1.00,000

Old Profit-sharing ratio = 3:1

Wihaan's Share = 1/5

Remaining Profits of the firm = (1- 1/3)=4/5
Achla's New Share = (4/5x 3/4)=3/5
Bobby's Mew Share = (4/5=1/4)=1/5
Mew Profit-sharing ratio = 3-1:1
Sacrificing ratio s same as = 3:1

ald ratio

(2) Calculation of Vihan's Share of Goodwill
Vihaan's Share of Goodwill =% (4,00,000 = 1/5)

: Existing Capital of Achla and Bobby is ¥ 4,70.000

i and ¥2,35,000

Amoaount to be eredited to Achla's Current Ade

i = Old Capital - New Capital
i =¥ (4,70,000 - 3,00,000) =¥ 1,70.000

: Amount to be credited to Bobby's Current A/c

: = Old Capital - New Capital

=F B0,000 i =%(2,35.000 - 1,00,000) =¥ 1.35,000
Balance Sheet as at 31* March, 2019
Liabilities Amount (¥) Assets Amount (€) |

Creditors 1,10,000 | Land and Building &,00,000
Liability for workmen compensation 80,000 | Debtors 40,000
Capitals : Furniture 1.55,000

Achla 3.00,000 Cash at Bank 2,000,000

Bobby 100,000 (40,000 + 1,00,000 + 80,000 - 40.000)

Wihaan 1,00,000 5,000,000
Current Afes:

Achla 1.70,000

Bobby 1,35.000 3.05.000

2,95,000 9.95,000

Related Theory (Y
=

= There is a difference between "Asset appreciated by 20% and 'Asset appreciated to 20%. The term "by" means value
of asset to be brought up by 20% and the term “to’ means value of machinery to be brought up by 805

58. Revaluation Afc
Particulars Amount () Particulars Amount (T}
To Provision for doubtful debt Afc 2,000 | By Partner's Capital Afc
To Furniture Afc 150 T- 1575
To Stock Afe 1.000 N- 1575 3,150
3,150 3,150
Dr. Partner's Capital A/c Cr.
Particulars T M M () Particulars T(® N | M0 |
To Revaluation Afc 1575 1575 By bal. byd 30,000 | 15,000 -
To balance cfd 314675 | 1464675 15500 | By General Reserve 1000 ( 1,000 s
By Bank Ajc s - 15,500
By Premium for Goodwill Ade | 2250 | 2250 -
33,250 | 18,250 | 15,500 33,250 | 18,250 | 15,500
Balance Sheet of T, N, M as at 315 Mar. 2018
Liabilities Amount (T) Assets Armount (¥)
Creditors 18.000 | Cash at bank 21,000
Capitais: Debtors 40,000
T- 31675 Less: {(2000) 38,000
M- 14475 Stock 5,000
M -15500 63,850 | Furniture 2,850
Freehold Property 15,000
81,850 81,850




59

Dir. Revaluation Afc Cr.
Particulars Amount () Particulars Amount (T)
To Furniture 11.000 | By Debtors 5,000
To Provision for bad & doubtful debts 6,250 | By Land & Building &2 000
To Claim for damages B.000
To profit t/f to
Chander’s Capital A&/c  20B75
Damini's Capital A/c 20875 41750
67,000 &7,000
Dr. Capital Ajc Cr.
Particulars Chander | Damini Elina Particulars Chander | Damini Elina
To Bank Afc 12500 | 12500 = By Balance b/d 250000 | 2,16,000
To Balance c/d 283375 | 249375 | 3,00,000 | By Bank Afc 3.00,000
By Premium for Goodwill Afc 25000 25,000
By Revaluation Afc 20B75| 20875
295875 | 2618753 3.00,000 295875| 2,61.875| 3,00,000
&, Revaluation Account
Particulars Amount (¥) Particulars Amount (€)
To Profit transferred to partner’s Capital Afc By Provision for bad debts Afc 2,000
Charu 1,200
Harsha BOO 2,000
2,000 2,000
Partner's Capital Account
Particulars Charu | Harsha | Vaishali Particulars Charu | Harsha | Vaishali
L) 4] () (%) L) i)
To Current Afcs 5400 3,600 - By Balance b/d 30,000 20,000 -
iBalancing Fig.) By General Reserve 2400 1,600 =
To Balance cfd 36,000 240000 20000|By Cash Afc = = 20,000
(Note 15 2) By Premium for Goodwill Afc 2400 1,600 -
By Revaluation Afc 1,200 B0 =
By Workmen CompensationFund | 1,800 1.200 =
By Irvestment Fluctuation Fund 3,600 2400 =
41400 27600 20,000 41400 27600 20,000
Working Notes : ' '

1.  Calculation of New Profits Sharing Ratio :
Let the total share of the firm =1
Vaishali's share=1/4
Remaining share=1-1/4=3/4
Distribute the remaining share of 3/4 in the ratio of 3 : 2 between Charu and Harsha.
Charu's share = 3/4 x 3/5 = 9/20; Harsha's share = 3/4 = 2/5 = &/20
Mew profit sharing ratio of Charu, Harsha and Vaishali = %/20:6/20:1/4=9:6:5
2. Calculation of Capital and Harsha on the basis of Vaishali's Capital :
Total Capital of the new firm on the basis of Vaishali Capital =% 20,000 = 4/1 =T 80.000
Charu's Capital =¥ 80,000 = 9/20 =¥ 36,000

Harsha's Capital =T 80,000 = §20 =7 24,000




61,

Revaluation Account

Particulars Amount (%) Particulars Amount (€)
To Liabilities for Bills Receivable Discounted 18,000 | By Land and Building 36,400
To Stock 22 200 | By Loss transferred to partner's Capital Afc
To Furniture 44 600 Om 25,200
Ram 16,800
Shanti 8400
50,400
86,800 86,800
Partner's Capital Account
Particulars Om Ram Shanti Particulars Om Ram Shanti
(%) (€ {1 (%) () ()
To Revaluation Afc 25,200 156.800 8,400 | By Balance b/d 358,000 300000| 262000
To Current Alc = 2200 | 114,600 | By General Reserve 24000 16,000 8,000
To Balance c/d 450,000 ( 3.00000 | 1.50.000 | By Premium for 15.000 10.000 5000
goodwill Afc
By Current Afc 78,200 - -
475200 | 3,26,000| 2,75.000 475200 | 326,000 275,000
Working Notes :
Hanuman's Capital = ¥ 1,000,000
Hanuman's Share = 1710
Capital of the Firm = ¥1,00000 = 10 = ¥ 10,00,000
Less : Hanuman's Capital = ¥ 100,000
T 2.00,000
Om's Capital = T900.000x3/6=7 4,50,000
Ram's Capital = T9.00.000x2/6=7T3,00000
Shanti's Capital = ¥T9.00.000=1/56=71,50,000
Hanuman's Capital = 100000
&2, Revaluation Account
Particulars Amount () Particulars Amount (T)
To Profit transferred to 1,40,000 | By Building Adc 100,000
Mohan's Capital Afc 84,000 By Stock Afc 40,000
Mahesh's Capital Afc S6.000
1.40,000 1,40,000
Partner's Capital Account
Particulars | Mohan (¥) | Mahesh (¥) | Musrat () Particulars Mohan (%) | Mahesh (€) | Musrat (€)
ToBalancec/d | 392000 208000 1.20,000|ByBalance b/d 1.00,000 B80.000 -
By Revaluation Afc 84000 56,0001 =
By General Reserve Afc 26,000 &4.000 —
By Workmen Comp. Fund AJc 12,000 8,000 =
By Premium for goodwill Adc | 100,000 = i
By Cash Adc 1.20.000
3,92,000| 2.08,000] 1,20,000| 392,000 208000, 1.20.000
Balance Sheet as on 1*' April 2012
Liabilities Amount (¥) Assets Amount (T)
Creditors 210,000 | Cashin Hand 3.60,000
Workmen Compensation Claim 2.30,000 | Debtors 160,000
Capitals : Stock 1.60,000
Mohan 3.92,000 Machinery 1.00,000
Mahesh 2.08.000 Building 3.B0,000
Musrat 120,000 720,000
11,60,000 11,560,000




Working Motes :

Musrat’s Capital = (Mohan's Capital) = 20/100
= [T 392,000+ T 2,08,000) = 20,100
= ¥ 6,00,000 = 20/100=% 1,20,000

&3
Dr. Revaluation Account Cr.
Particulars Amount () Particulars Amount (1)
To Dep. on Machinery 45,000 | By Land and Building F0,000
To Profit transferred to :
Sikhar's Capital 17,500
Rohit's Capital 7,500 25000
70,000 70,000
Dr. Partner's Capital Account Cr.
Particulars Sikhar Rohit Kavi Particulars Sikhar Rohit Kavi
(€ (%) () () (€ (®)
ToBalance efd | 240,000 | 4,10,000 |4,30,000 |By Balance b/'d 800,000 3.50.000 -
By Revaluation Afc 17,500 7,500 -
By General Reserve AJc JO,000 30,000 5
By Workmen Comp. Fund Afc 35,000 15.000 =
By Cash Adc
By Premium for Goodwill Afc - -| 430,000
17,500 7.500 =
Total 2.40,000 | 410,000 | 4.30,000 Total 240000| 410000 430,000
To eash Afe| 3I7000| 23000 - | By Balance c/d 240000 410000| 430000
{Bal. fig.)
Tobalancecfd | 9,03.000| 387,000 4,30,000
(Mote 15 2)
2.40,000 | 410,000 | 430,000 240,000 410000 4&.@
Balance Sheet of New Firm As at 1™ April 2013
Liabilities Amount {T) Assets Amount (T)
Capitals : 17.20,000 | Land & Building 4,20,000
Shikhar 9.03,000 Machinery 4.50,000
Rohit 3.87,000 Less : Dep. 450001 405000
Kavi 4 30,000 Debtors 2,20,000
Workmen Compensation 50,000 Less : Provision 200001 200,000
Creditors 150,000 Stock 350,000
Cash in Hand
(150,000 + 430,000 + 25,000 - 37,000 - 23.000) 545,000
12.20,000 1920000
Working Motes :
1. Calculation of New Profit Sharing Ratio :
Let total profit = 1
Kavi's Shares = 1/4
Remaining Profits = 1-1/4=3/4
Shikhar's Shares = 3/4=7/10=21/40

Rohit's Shares =

3/4 = 310 = 9/40

Mew Ratio of Shikhar : Rohit : Kavi=21/40:9/40:1/4=21:9:10
2. Total capital of mew firm and new capital of partners :
Total Capital of new firm on the basis of Kavi's capltal =7 4 30,000 = 4/1 =¥ 17,20,000

Shikhar's Capital =
Rohit's Capital
Kavi's Capital

1720000 = 21/40 =T 9,03.000
$17,20,000 = 9/40 =T 387,000
¥17.20,000 = 10/40 =¥ 4,30,000



&4. Dr. Revaluation Account Cr.
Particulars Amount (¥) Particulars Amount ()
T Machinery Afc 5,000 | By Land and Building A/t B.000
To Stock Afc 2000
To Profit transferred to:
R's Capital A/dc &0
5's Capital Afe 400 1.000
8.000 B.000
Dr. Partner's Capital Account Cr.
Particulars RIT 5m M) Particulars RIT) 5T M)
To Balance c/fd 1.08.600) 72400 B0.000 | By Balamoe b/d 50,0001 40,000 -
By Bank Asc - - 80,000
By General Reserve 12.000] 8,000 -
By Premium for 346,000( 24000 =
goodwill Afc
_| By Revaluation A/ a00 400 -
108,600 72400 80,000 1.08,600) 72400 80,000
55. Journal Entries
Particulars Dr. (¥} Cr.(¥)
{i) |Bank Ajc Dr.| 40,000
Ter C's Capital Aje 20,000
Tor Premium for Goodwill Ak 10,000
{Being capital and share of premium of goadwill brought in cash by C)
i} | Premium for Goodwill Afc Dir. 10,000
ToW's Capital Afc 6,000
To R's Capital Afc 4000
{Premium of goodwill distributed among the existing partners)
(iii) |W's Capital Afe Dr. 3,000
R's Capital Afc Dir. 2,000
To Cash Ak 5,000
{Beirg half of the goodwill withdrawn by the partners in their sacrificing ratio)
(iv)] |General Reserve Afc Dr. 5,000
ToW's Capital Adkc 3,000
To K's Capital &/c 2,000
(General reserve distributed among old partners in old ratio)
(v} |Outstanding Salary Afc Dr. 3.000
To Bank Afc 2,000
(Being outstanding salary paid off)
[vil |Revaluation Ajc Dr. 8,125
To Stock Afc 2,000
To Furniture A/c 500
To Plant and Machinery Afc 3,200
To Creditors A/ 2100
(Being stock, furniture and plant and machinery depreciated recorded in Realisation
Account)
{vii) |Imvestment Afc Dr. 2,500
To Revaluation Afc 2500
{Being the investment recorded in the boolks)
(wiii) |W's Capital Afe Dr. 3375
R's Capital A/c Dr. 2.250
To Revaluation Afc 5,625
{Loss on revaluation debited to old partners in old ratio)




&6 o) @ Journal entry for the treatment workmen compensation reserve at the time of admission will be as follows

Jourmal

Date

Particulars LF.

Dr. (%)

Cr.[®)

Workmen Compensation Fund Afc Dr.
To Workmen Compensation Claim Afc
To Seema's Capital Afc
To Teena's Capital Afe

(Being WCR adjusted on admission)

50,000

20,000
18,000
12,000

&7. (b): Working Motes ;

Farad's share of profit = 1/5

Remaining Profits =(1 - 1/5) =4/5

Disha's Mew Share = (4/5 = 1/2) = 2/5

Abha's New Share = (4/5x 1/2) = 2/5

Mewratin=2:2:1

For 4/5 share partner's capital = ¥ (64,000 + 46.000) = ¥ 1,10,000
For 1 whole share of profit capital = ¥ (1, 10,000 = 5/4)

For 1/5% share Farad's Capital = ¥ {1,10,000 = 5/4 = 1/5) = ¥ 27,500

68. In the Books of Asha and Aditi

Date

Particulars LE

Amount

Dr. (€)

Cr.(%)

(i} Bank Afc Dr.
To Raghav's Capital AJc
To Premium for Goodwill Adc

(Beimg cash brought by Raghav for Capital and share of goodwill)

i) Premium for Goodwill Afc Dr.
To Asha's Capital Afc
To Aditi's Capital Afc

[Being share of goodwill brought by Raghav given in sacrificing ratio

3: 2 to Asha & Aditi)

8.50,000

2.50,000

6,00,000
2.50,000

1.50,000
1.00,000

Calculation of poodwill of the firm

(i} Adjusted total profit of the firm
2013-14
2014-13
2015-16

T
350,000
4,75,000
670,000

2016-17 (745,000 - 15,000)

22.25,000

(i} Average adjusted profit= ———— 2000
Less : Future Annual charge = 5556250
-56250

500,000

(iil) Goodwill = Average adjusted profit x Mo. of year purchase
= 5,00,000 x 2 =T 10,000,000

(iv) Raghav's share = 10,000,000 = % =T 2.50,000

=¥5.56,250

&9.
Dr. Revaluation Afc

Cr.

Particulars Amount (T) Particulars

Amount (T)

To Furndture

To Profit transferred to -
Sanjana’s Capital Adc
Alok's Capital Afc

30,000 | By Investments

By Stock

40,000

40,000
30,000

70,000




Dr. Partner's Capital Accounts Cr.
Particulars Sanjana | Alok Midhi Particulars Sanjana | Alok Midhi
(%) () 4] (%) L4 (T
Toe Cash Ade 30,000 20000 -[By Balance by/d 5,000,000 4.00.000 -
To Investrents Afc - 3.00,000 -|By Cash Adc = -1 3.00,000
To Cash Aje 50,000 - - [By Premium for goodwill Ade | &0,000| 40,000 -
To Balance c/d 540,000 360,000 300,000 By Workmen's =
Compensation Reserve Adc | 36,0000 24000 =
By Revaluation AJc 240000 14,000 -
By Cash -1 2,00,000 -
6,20,000; 6,80,000| 3.00.000 &Eﬂ.{ﬂ]lﬁ.ﬂﬂ'ﬂ]ﬂ 3.00,000
Balance Sheet of the reconstituted firm as on 31% March 2018
Liabilities Amount (T) Assets Amount (T)
Creditors 60,000 | Cash at bank &, 66,000
Capitals : Debtors 144,000
Sanjana 540,000 Less provision for doubtful debts 2000 144000
Alok 3.60.000 Stock 1.80,000
Midhi 3.00,000 | 1200000 | Furniture 270,000
12,60.000 12,60,000
Concept Applied Hf.
= Entries for Reserves, Accumulated profits and losses are passed even if the question is silent.
70. [b)
Mani MNeeru Lily
Old Ratio 5/8 3/8 X
Mew Ratio 2/8 3B 3B
Sacrificing Ratio E-E E-E
B 8 B 8
3
-E (s} = MIL
Journal entry for the premium for goodwill brought by lily
Date Particulars LE Dr. (%) Cr.(¥)
Premium for Goodwill Adc Dr. 52500
To Mani's Capital Afc 52,500
{Being Premium for goodwill credited to Sacrificing Partner)
T1l
Date Particulars LE Dr. (¥) Cr.(%)
2014 Gulab's Capital Adc Dr. 8,000
April 1 Khushbu's Capital Afc Dr. 32,000
To Anant's Capital Afc 40,000
(Being adjustment of geodwill in change in profit sharing ratio
recordedie. 1 :4)

72, Calculation of Goodwill of the firm

Average Profit = ¥ (4,00,000 + 4,800,000 + 7,33,000 - 33,000 + 2,.20,000)/5 = ¥ 3,60,000
Goodwill of the firm = Averape Profit ®= Number of years” Purchase

Goodwill of the firm =¥ 3,60,000 = 2
=¥ 7,20,000




Journal

Date Particulars LFE Dr. (€) Cr.(%)
Gupta's Capital Afc Dr. 1,20,000
To Kumar's Capital Ade G0,000
To Kavita's Capital Afe &0,000
(Being odjustment of goodwill among partners on changes in profit
sharing ratio)
Working Notes :
(it Calculation of Sacrifice/Gain of Partners (s) :
Share of Profit Kumar Gupta Kavita
Old Share 1 1 1
Mew Share 1 2 1
Sacrifice Share = Old Share 1/3-1/4=1/12 2/4-13=212 1/3-1/4=1/12
- Mew Share Sacrifice Gain Sacrifice
(ii) Adjustment of Goodwill : Kumar's Sacrifice
=¥ 720,000 = % =¥ 60,000
Gupta's Gain=7 7,20,000 = 2/12 =% 1,20,000
Kavita's Sacrifice =T 7, 20,000 = 1/12 =¥ 60,000
73.
Dr. Revaluation Afc Cr.
Particulars Amount (T} Particulars Amount (¥}

To workmen compensation claim

30,000 By Revaluation loss transferred to
P's Capital Afe = 3,000
Or's Capital Afc = 12,000
R's Capital Afc = 6,000

5's Capital A/e = 9,000 30,000
30,000 30,000
Dr. Partner's Capital Ase Cr.
Particular p Q R 5 Particular’s P Q R 5
To Revaluation Afc 3,000 12000 6,000 9.000|By Balanced [2,00,000] 3,00,000( 4.00,000] 5,00,000
To O's Capital Afc 30,375 10,125 By CashAd |1.86000f 14,000
Ta 5 Capital Adkc 10,125 3.375 By P's Capital 30,375 10125
To Cash Afc 38,000 1,62,000|By R's Capital 10,125 3375
To Balance Ajc 342500( 3.42500| 342500 3.42.500
3.86,000{ 3,54,500| 4,00,000] 5.13,500 3.84,000| 3,54.500| 4.00,000|5,13.500
Working Motes : Treatment of Goodwill
Old ratio=P:Q:R:5 &
= 1:4:2:3 = Gnnﬁﬁ!gimnmﬂ:l?ﬂ,ﬂl]xﬁ-fm.ﬁﬂﬂ
Newratio=P:Q:R:S 2
s K e Goodwill given to 5= 2,70,000x E-? 13,500
Sacrificing ratio = Old ratio - New ratio. Adjusted Capital'sof P, Q. R, 5.
P’s sacrifice = === = -m-i:gain] P's Capital = 1,56,500
10 4 40 40 's Capital = 328,500
O's sacrifice = o Ay = 10 -.."EL R's Eap_ita] =3,80,500
10 4 40 40 S's Capital = 5,04 500
2 1 8-10 2 13, 70,000

R's sacrifice =—=—m

10 4 40 - a4p &)

: : 3 1 2
Ssau'tﬁr_e-m 4-4':}

Partner's Capital in their Mew Profit sharing ratio

Mew Profit Sharing ratio among partners=1:1:1:1
= Mew Capital's of partner’s




|
P's Capital =13,70,000x E' 3.42.500

R's Capital = 11?:111!];:%- 3,42.500

Q's Capital =13.70,000 x%- 3,42.500

5's Capital = 11?0.[)0!]::%-3.415!]0

Balance Sheet
Liabilities Amount (€) Assets Amount (€)
Capitals: Fixed Assets 1270000
P=342500 Current Assets 5,30,000
Q= 342500
R=2342500
S =342 500 13, 70,000
Sundry Creditors 2.30,000
Workmen's compensation Claim 200,000
18,0:0,000 18,00,000
74,
Dir. Revaluation Account Cr.
Particulars L] Particulars L4]
To Building &,000 | By Land 40,000
To Revaluation Profit - By Creditors 12,000
Aszhok 33,000
Bhim 22,000
Chetan 11,000 &&,000
72,000 72,000
Dr. Partner's Capital Afe Cr.
Particulars BAshok Bhim Chetan Particulars Ashok Bhim Chetan
To Ashok's Capital Ade 50,000 |By Bal. b/d 200,000 | 1,00,000 | 50,000
To Balance cfd 3,13.000 | 142000 | 21000 |By Revaluation Afe (Profit)| 33,000 22000 11,000
By General Reserve 30000 | 20,000 10,000
By Chetan's Capital Afc 50,000
313,000 | 142000 ( 71000 3.13.000 | 1.42,000 | 71,000
Balamce Sheet as on 31-3-2015
Liabilities Amount (¥} Assels Amount ()
Creditors 88,000 | Land 160,000
Bills Payable 40,000 | Building 94,000
Ashok 3,113,000 Plant 2,00,000
Bhim 142,000 Stock B0,000
Chetan 21,000 476,000 | Debtors 60,000
Bank 10,000
6.04,000 6,04,000
Working Motes : Sacrifice Rati 1 1 1-2 -1
e Chetan's = — ===~ —=_~ (Gain)
Ashok's == _ > =2~ (Sacrifice): 6 3 & 6
6 3 & &
& 3 & &
Journal Entry
Chetan's Capital Adc Dr. 50,000
To Ashok's Capital Afc 50,000

1

(Goodwill 3.00.000 = E-Eﬂ.(ﬂ[ﬂ Due to change in PSR)




13,

Dr. Revaluation Ajc Cr.
Liabilities Amount (%) Assets Amount ()
To Building Afc 3.000 | By Land Afc 30,000
To Revaluation Profit transfer to: By Creditors’ Afc &,000
R's Capital 5,500
S's Capital 11.000
T's Capital 16,500 33.000
36,000 36,000
Dr. Partner’s Capital Afc Cr.
Particulars R 5 T Particulars R s T
To R's Capital 25,000 = - By Bal. Bfd 100,000 50000 25000
To Bal. efd 85,500 71,000 B1,500 | By Revaluation 5500 11000 16,500
By General Reserve 5,000 10,000 15,000
By R's Capital - - 25,000
1.10,500 71,000 B1.500 1,10500| 71000 81500
Balance Sheet as on 31-3-2015
Liabilities Amount (¥) Assets Amount (%)
Capitals: Land 80,000
R 85,500 Building 47.000
5 71.000 Plant 1,00,000
T 81,500 238,000 | Bank 5.000
Creditors 44000 | Stock 40,000
Bills Payable 20,000 | Debtors 30,000
3.,02,000 3.02,000
Waorking Motes :
Sacrificing Ratio R's e R .'_ (Gain)
6 3 6
21 2=2 0O
g e — p———
3 & &
3 1 3-2 1
a6 5
R's Capital Afe Dr. 25,000
To T's Capital Afc 25,000
1
(Goodwill 1,50,000 = E]
i3 (a):¥10,00,000 0.80
B\ CBSESample Questions J P .09
- : - : 4. (d): 745,000 and ¥ 15.000 respectively (0.80)
1. (a):1/4 (0.80) : 5 (b): ¥ 5.000 (0.80)
. ealil; 1l '2 &, o) : When, at the time of admission, goodwill already
Hint: Raﬂn of Mavya and Fladht‘g-' BOOO: 16000=1:2 ! s
1 1 - appears in the balance sheet. (1)
Ex" T5MNawa 5 Hﬂd &) £ 7. (d):230,000 (0.80)
Radhey's sacrifice -%-5—5 % 8. (b):Loss toexisting partners (0.80)
31 4 : 9. lc): ¥ 5,000 Debited to Revaluation Account. (0.80)
Mawvya's sacrifice = —=—=— i
1 4 15 60 i 10. (a): Market Value. (0.80)
Shreya == (1) :
3 i 11 (d):¥1.83,000 (0.80)



12. (a) : Bad Debts Afc Dir. 15,000

To Sundry Debtors Ajc 15,000
Provision for Doubtful Debts Afe Dr. 15,000
To Bad Debts Alc 15.000 [0.80)
13. (a): Both (A) and (R) are correct and (R) is the correct reason of (A). (0.80)
14. Dr. Revaluation Account Cr.
Particulars Amount (¥) Particulars Amount (¥)
To Partner's Capital Adc Plant and Machinery 14,000
X 12,200 Buildings Afc 11,000
¥ 12,800 32,000 | Provisions for Doubtful
Debt Ak 7,000
32 000 32,000
Dr. Partner's Capital Accounts Cr.
Particulars X Y Z Particulars X Y &
¥'s Current Afc — 24,000 — Balance b/d 1.19.000 112000 —
Balance cfd 1568000 112000 55,000 | Bank Afc — — 56,000
Z's Current Afc 8,400 5,600 =
General Reserve Afe 8,400 5,600 -
Revaluation Afc 192.200 12,800 =
X's Current Afc 13,000 = —
168,000 1,356,000 56,000 1,468,000 1,346,000 56,000
{3+3)
15 Journal Entries
Date Particulars LFE| Dr(¥) Cr.(¥)
1# April, 20 |Revaluation Afc D 20000
To Plant and Machinery Ajtc 20000
{Hcing plant and machinery revalued)
1 April,20 |Land and Building AJc Dir. 40000
Provision for Doubtful debts AJc D 40000
To Revaluation Ak BOCDD
[Being land and building revalued and provision for doubtful debis written back)
1 April.20 |Creditors Afc Dr. 40000
To Bills Payable Ade 40000
[Being Bills accepted from Mr. Anil)
1* April, 20 |Revaluation Afc Dir. G0000
To Sunaina's Current Afc 36000
To Tamanna's Current Adc 24000
{Being profit on revaluation credited to partners current account)
1% April.20 |Sunaina's Current Afc Dr. 12000
Tamanna's Current Ajc D BODO
To Goodwill Adc 20000
[Being Goodwill written off)
1* April 20 |Cash Ak D 110000
To Pranav's Capital Asfc 100000
To Premium for Goodwill Afc 10000
{Being capital and premium brought in by new partner)
1 April 20 |Premium for Goodwill Ajc D 10000
To Sunaina’s Current Afc G000
To Tamanna's Current Ade 4000
_____________ (Being Premium distributed among sacrificingpartners) | | |




'1}[ AanEl!] s qens .all Rusuwmt ......................................................... Dr ........... [ ..........
To Sunaina’s Current Afc 72000
To Tamanna's Current Afc 4000
(Being reserve distributed among old partrers)
1% April.20 [Workmen Compensation Reserve Afc Dir. SO000
To Claim for Workmen Compensation 20000
To Sunaina's Current Afc 18000
To Tamanna's Current Afc 12000
[Being provision for workmen compensation provided and balance reserve distributed
among old partners)
(8)
16.
Dr. Revaluation A/c Cr.
Particulars Amount () Particulars Amount ()
To Machinery AJfc 21000 | By Stock Afc 70,000
To Furniture Afc 5,000
To Provision for doubtful debts B.000
To Partner's Capital Afc- Gainon
revaluation
Gautam’s Capital Ade 27,000 36,000
Yashica's Capital Ase 2,000
70,000 70,000
(3)
Dr. Partner's Capital A/c Cr.
Particular Gautam | Yashica | Asma Particulars Gautam | Yashica | Asma
4] L] L4} L4 (® L4
To Gautam's Current Ade | 2,67,000 E = By Balance b/d 400,000 1.00,000 =
To Balance cfd 2.10,000( 1.40,000| 2,10,000(By Revaluation At 27,000/ 2,000 -
By Bank Ak = = 210,000
By Premium for Goodwill 50,000 = =
By Yashica's current Afc = 31,000 =
4,77.000( 1.40,000| 2.10,000 477,000/ 1,40,000] 2,10.000
(3)
Balance Sheet of Gautam, Yashica and Asma
Asat 31.3.2018
Liabilities Amount (T) Assets Amount (T)
Sundry Creditors 50,000 | Cash 3.50.000
Bills Payable 30,000 | Debtors 80,000
Capital Accounts:- (-} Provision for doubtful debts 8,000 72.000
Gautam - 210,000 Stock 2,10,000
Yashica - 140,000 Furniture 60,000
Asma- 2.10,000 5.60,000 (-} Depreciation 5.000 55,000
Gautam's Current A/c 2467000 | Machinery 210,000
(=) Depreciation 21,000 1,89.000
Yashica's current Afc 31,000
2.07,000 9.07,000
(2)
Working Mote : Total Capital of the firm = 2, 10,000 x 8/3 =¥ 5,460,000
Gautam's capital in the firm =5,60,000 < 3/8 =T 2,10,000
Yashica's eapitalin the firm =5480000x 2/8=T 1,
17. (e} :¥ 50,000 (1)

18, (a):Shagun's capital account will be debited by ¥ 3,000 and Anubhav’s capital account credited by ¥ 3.000. (0.80)

19. (o) : (i) All Partners, (i) Old Partners.

(0.80)
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